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STRUGTURE AND WRITTEN
EXPRESSION

The Structure and Written Expression Section of
the TOEFL" Test

Section 2 of the TOEFLY Test tests your understanding of English grammar. The
section is divided into two parts, with a different type of question in each part:

A: Structure (questions 1-15) tests sentence completion.
B: Written Expression (questions 16-40) tests error identification.

The number of items in the Structure and Written Expression parts are as
follows:

Short Long
Form Form
Structure 15 23
Written Expression 25 37
Total 40 60
Time 25 minutes 35 minutes

e Language: Scction 2 tests standard written English. The language in this
section is more formal than the language in the listening Comprehension
section. There will be no contractions (there's) or idiomatic expressions,

¢ Topics: The topics in Section 2 are about academic subjects: the physical
sciences (astronomy, geology), social sciences (anthropology, nutrition), or
the arts and humanities (music, art). But yvou do not have to know about these
subjects to answer the questions.

There are cultural references to the United States and Canada. These
references may be to people, places, or things related to the United States and
Canada, but you do not have to know any of these references or facts. All you
have to do is concentrate on the structure of the sentence. A knowledge of the
facts referred to in this section are entirely irrelevant to your score.

¢ Grammar points tested: Although a wide range of grammar points is tested,
certain grammar points occur over and over again. Each chapter of this text
concentrates on a particular grammar point tested on the TOEFL® Test.
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TACTICS
There are two ways of answering the questions appearing on the TOEFL® Test.

1. By analyzing the grammar of a sentence: In the Structure part you can
analyze the part that is missing, and in the Written Expression part the
incorrect underlined item can be worked out.

2. By using your intuition: Some people “feel” an answer is right or
wrong, although they may not know the grammar. This way may work
for a person who has learned English by listening and speaking.

o Familiarize yourself with the directfons for both parts so you do not waste
time reading the directions and examples.

e Answer every ftem. If you do not know the answer, do not leave a blank
space. Always guess, even if you do not know, Wrong answers will not count
against you. You can use a “guess' letter, A guess letter is one letter, A, B, C,
or D, that you can use to answer all the items you do not know. You are more
likely to get some correct if you use the same letter through the whole test
than if you change letters all the time.

o Use your time carefully. Always read the four choices, even if they scem casy.
You may make a careless mistake by answering a question too quickly. Don’t
lose time thinking about something yvou do not know. Mark the item lightly
on your answer sheet so you can go back to it later. Go on to the next item.
You should not spend more than thirty seconds per item.
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" Based on Bruce Roger's analysis of 20 different exams that test takers were
allowed to keep after Disclosed Test Admission.
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Introduction: The Brain

The brain can store The human brain weighs
100 trillion places about 3.5 pounds
of infarmation '

In each second the bran

/ A man's brain s
recaives more than 100 heavier than 3 woman's

milion nerve messages . Y brain.
ey \ ) Lh:'wmmnw:im

The brain loses mnuch u; :: t;;dymh
1.000 ceils per e
day, whichare ————— (25 p‘etcetn) of the
not replaced. and body's oxygen.
yet memones
The left side of the

are mantained — e
The beain cansot — ;:m.;:o‘:;‘tho' Nboo/;
1ol pan. it a ! o
surgean operates brain controls the left
an the bran, the 7 side of the body
::'-,,mt o i / \ It you are nght-handed.

' v you have a strong left
Dunng e fest six bran, i you are left-handad.
months of a baby's e you have a strong

its brain doubles in size, \ right bran

The left brain controls math,
language. and logic. The rght
bran controls art, color, and music
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Exercise 1

NwmmhMonﬂnTO!ﬂﬂTuf.Comphhﬂnmlnu
with nouns.

\
The brain stores 100 trillion picces of __ 0 e

Men's brains are heavier than __J0 00 brains.

The brain uses one-quarter, or L=, of the body's oxygen.

The left brain controls math, AL N , and

The right brain controls color, ‘ ,and

The human brain weighs about 3.5

The brain cannot feel

@ WM e W N -

The brain receives more than 100 ~ Nyt
messages from the body.

Exercise 2

Fromthomdl , work out whether these statements are
trucorfclu.(:bock'l’formoandl?forfala. :

1. The weight of the brain depends on intelligence. T(F
2. A jazz musician has a dominant right brain. X/ F
3. A left-handed person has a dominant left brain. T('E
4. When you play a game of chess, you use the left side of your

brain. 0¥ -
5. Your lost brain cells are always replaced. T\E

6. The brain feels pain when you have a headache. TR



w
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Grammar: Singular and Plural Nouns

Nouns can be classified into two groups: count nouns, which can be counted
and which take an s, and noncount nouns, which cannot be counted and which
usually do not take an s

STRATEGY
Look for a noncount noun that is pluralized where it generally should not be.

Look at the following table:

Singular Plural
Count noun a cell cells
one cell two cells
some cells
a lot of cells
many cells

Noncount noun information
some information
a lot of information
much information

Count nouns
1. Take a/am or one in the singular.

2. Usually take a final s/es in the plural.

Noncount nouns
1. Do not take a/an in the singular.

2. Do not generally have a plural form,

Some count nouns are irregular and do not take an s in the plural Here are
some commaon irregular count nouns:

man—men foot—feet
WOman—women tooth—tecth
child—children fish—fish
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Noncount nouns cannot be counted because they come in a mass or in an
uncountable form. Nouns such as blood, music, and excitement cannot be
counted. The following is a short list of some noncount nouns:

Food: rice, sugar, fruit, milk, bread, butter, cheese
Fluids: blood, water, oil, coffee, tea, gasoline

Raw materials: wood, paper, glass, iron, silver, wool

Gases: oxygen, nitrogen, air, pollution, steam

General: fumiture, mail, moncey, traffic, equipment

Groups: jewelry, machinery, luggage, clothing, cash
Languages: English, Chinese, Japanese, Spanish

Academic subjects:  chemistry, mathematics, psychology

Abstract things: education, health, intelligence, beauty, knowledge,

sleep, hope, music, time

QUANTIFIERS
A quantifier is a word that indicates an amount or guantity.
1. Some quantifiers are used only with plural count nouns.
both many afew  several  fewer

They are controlled by several nerves.
We bave fewer cells as we get older.

2. Some quantifiers are used only with singular count nouns.

another  each  every

Each gland bas a different purpose.
Every muscle bas its own group of nerves.

3. Some quantifiers are used only with noncount nouns.
alinle much  less  amount

The amount of oxygen available to the brain is important
If your brain gets less oxygen than it needs, you could become
UNRCONSCious.

4. Somc quantificrs arc used with both plural count nouns and noncount

nouns.
all plenty of  any

alot of enough most
lots of SOme more

Brain cells use up a lot of energy.
Most animals rely on instinct,
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Exercise 3
Correct the errors in noun forms in the following sentences.
1. Intelligence is the ability to use thought and knowledges to understand
things and solve problems.
2. Hormones help adjust the mixture of sugar, salt, and waters in your
body.
3. Psychology, meaning the study of the mind and how it works, comes
from a Greek word meaning lifes or soul.
4. Brain cells use up a lot of energy, so they need a constant supply of
oxygens.
5. Each hemisphere of the brain receives informations about the opposite

side of the visual ficld.

Although millions of brain neurons are active at any one time, they do
not use much electric powers.

Lights entering the eye forms an image on 130 million tiny light cells.

Most animal are not able to rely on learning and memory.

Strategy

Look for compound nouns in which both nouns are pluralized, instead of just
the second noun. a l

Compound nouns are two nouns that are used together to make one word

or idea. The first noun acts as an adjective to the second noun and usually does
not take s. The second noun can be plural.

brain cell
brain wave
computer scientists

Compound nouns may also be used with number expressions,




The brain uses as much power as a ten-watt lightbulb, (noun used as an
adjective) e

Ibebmlnmmmabpomracllgbw«bofmm(mmedu
a noun)

Henmalﬁowmcm,ﬂonnmmwry (notnusedlsm'

adjective) ely
He recited a book oflﬁm,pmuﬁmu memory. (noun used as a noun)

Numbers such as bundred, thousand, million, and trillion are plural when
The brain receives 100 million messages a second.

Exercise 4

People’s brains weigh more now than they did 100 year ago.
Nmaknpuh&canmvdaspcedsdupmmrectpcrmd.
The brain contains between 10 trillions and lOOtﬁlllmsnmrom.
Each neuron is linked by synapses to thousand of other neurons.
Nerves endings below the skin's surface pick up sensations of cold,
heat, and touch.

There are three to four millions pain receptors in the skin.
Adnwym-ddchﬂdsbmnlstwodﬂrdsthedzeltwmﬂmnybe.

The brain uses 25 percents of the blood’s oxygen.

1.
2,
3.
4.
5.
6.
7.
8.
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On the TOEFL® Test

Nouns are tested in the Written Expression section of the exam. Check for the
following types of errors with nouns.

l.

A noncount noun may be pluralized.

Example: In a person’s lifetime, the brain can store 100 trillion

A B
picces of informations.

C D

The correct answer is (D) information is a noncount noun and cannot
be plural.

A plural noun may be used when the verb or phrase requires a singular
noun.

Example: Each part of the brains controls a separate part of the
A B C

body.
D

The best answer is (B); a singular noun brain must be used with “'part
of the.”

A singular noun may be used when the verb requires a plural noun.

Example: Human brain are more powerful than those

A
of other specics because of their complex circuitry.

B C D

The correct answer is (A); a plural noun brains must be used because
the verb are is plural.

In compound nouns where two nouns are used together, both nouns
may be pluralized instead of just the second noun.

Example: Brains cells die at the rate of 100,000 per day by age 60, and

A B C
they are not replaced like other body cells.

D

The correct answer is (A); the correct form is brain cells.
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5. In compound nouns involving numbers and measurements, the com-
pound noun used as an adjective may be in the plural form.

Example: Man's three-pounds brain is the most complex and orderly
A B
arrangement of matter in the universe,
C D

The best answer is (B); when a compound noun is used as an adjective,
it is singular. Therefore the correct answer is three-pound.

6. When noun phrases involving a number such as bundred, thousand, or
million follow another number, the plural form may be used.

Example: The brain loses fifty thousands neurons a day and yet

A B
maintains its basic patterns and memories.
C D

The best answer is (A); the singular form thousand should be used
when it follows a number.,

Exercises on Nouns

From the four underlined words or phrases (A), (B), (O), or (D), identify the one
that is not correct.

A
there was mass starvations.

D

2. Shark can maneuver considerably faster than other fish because they

A B C
have no bones.

D
3. Although sugar cane and sugar beet look very different, the sugars that is

+ 1. The potato was the staple of Ireland, and when the crop failed in 1840,
B C

; A B {
-} refined from them tastes almost the same.

D
ol 4. Textiles industries are as widespread as food industries because both
\ B
supply basic human needs.
C D
5. Many animal species are totally colorsblind, but the condition is very
* A 0 G
rare in humans.
D

6. Our skulls is made up of eight cranial and fourteen facial bones.

. A B C D




10.

1.

12,
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Exercise 1

Pronouns are tested on the TOEFL® Test. Answer the following
questions using a pronoun.

1. Where do the emperor penguins live?

2. How many eggs does the female emperor produce at a time?

3. What does the male emperor penguin use to protect the egg from the cold?

4. Why do the male emperor penguins stand together?

5. Where do the males put their eggs when they stand together?

6. Where does the female go?

7. When does she return?

8. What does the male penguin do after she returns?
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Exercise 2

From the reading, work out whether these statements are
true or false. Check T for true and F for false.

1. There are no penguins on the North Pole. TF
2. All penguins live south of the equator T F
3. All penguins are the same. > el
4. All penguins have folds under their abdomen. T F
5. The fold of skin is uscd only 10 keep the cgg warm. Y
6. Only the female tkes care of the penguin chick. T F
7. Emperor penguins do not make nests, 3 34l
8. Emperor penguins lay their eggs very near the sea T F

Grammar: Pronouns

There are five forms of pronouns in English: subject pronouns, object pronouns,
possessive pronouns, reflexive pronouns, and relative pronouns. Possessive
adjectives will also be included in this chapter, although they are not pronouns.

Strategy

It is importont to know the five forms of pronouns and the possessive
adjectives that are often confused with them. Errors may include the use of
one type or form of pronoun in place of another.

SUBJECT PRONOUNS
| we
you you

he/she/it they
The subject pronoun is used
1. When it is the subject of a verb.
Tbey live south of the equaior.
2. When the subjects of the two clauses are compared.
They are more protected against the cold than we (are).
3. After the verb 1o be.
It is be with the ege.

4. Ahcr as and than.
She is not as tived as be (is)
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Exercise 3

- Circle the correct pronoun.

It is @/hcr who goes to find food.,

"lrl?g,‘ﬂlim has the responsibility of incubating the egg.
S;e/Hcr lays one egg.

John is stronger than l/xﬁg.

He/Him and his father are both great explorers.

Are you sure that the;'/them are here?

OBJECT PRONOUNS

2.

mec us
you you
him/her/it them

The object pronoun is used

When it is the direct object of a verb.

She gives bim the egg.

After prepositions.

When she returns, she takes over the egg from bim.

But when the preposition introduces a new clause, the subject pronoun
must be used because the pronoun is now the subject of the new
clause

He leaves after sbe returns.
When the objects of two clauses are compared.

It is easier for them than us.
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Exercise 4

Correct the pronoun errors in the following sentences where
necessary.

1. He helps she take care of the baby penguin.,

2. She lays her egg and then leaves.,

3. They feed them until they can swim.

4. Itis not easy for they to survive under such conditions.
§. It is harder for him than for <ae

He goes to the sea after she returns.

POSSESSIVE ADJECTIVES
my our
your your

his/her/its their

The possessive adjective is used.
1. To modify a noun and show ownership.

They lay their eggs about fifty miles from the coast.
2. To refer to parts of the body.

I'be male penguin rolis the egg on top of bis feel.
3. To modify a gerund

We are surprised by their nesting in such barsh conditions.
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Exercise 5

Complete the sentences with the correct pronoun.

1. She lays cgg.
2. He has a special fold of skin on the bottom of stomach.
3. They take carc of young in a special way.
4. It is protected from the cold by father.
5. They keep the eggs on feet.
6. The male penguin looks forward to coming back from the
sca.
POSSESSIVE PRONOUNS
mine ours
yours yours

his/hers/its theirs
The possessive pronoun is used
1. To replace a possessive adjective and a noun.
She takes ber turn, and be takes bis (bis turn).
2. After the verb to be.
The egg is bers.
3. After the preposition of when it means “one of many.”
It is a babit of theirs.

4. To replace the second possessive adjective and noun when they are
being compared.

Their life seems move difficult than ours
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Exercise 7

1. Penguins push along the ice using their flippers.

2. To protect from the cold, the penguin has a layer of fat
under its feathers.

The female lays her egg and walks back to the sea by

During the two months the male penguin cannot feed

. The male penguin incubates the egg.

o v s W

Since humans do not have the insulation that penguins do, we cannot
protect from such temperatures without special clothing.

RELATIVE PRONOUNS
The relative pronouns in English are who, wbhom, whose, which, and tbat.

Strategy
It is important to make sure that the relafive pronoun agrees with the subject.

Who refers to people and houschold animals.

Whom refers to people and houschold animals. It is used in the object
position in formal written English or with who plus a preposition in spoken
English.

Whose refers to people, animals, and things. It shows possession.

Which refers to things, collective nouns, and animals.

That refers to people, animals, and things.
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Exercise 8

followi mrd

6.

coast, have a special way of incubating their cggs.

There are eighteen different Kinds of penguins whom live south of the
equator.

The biologist which went to the South Pole is studying emperor
penguins.

Emperor penguins survive winds who blow at speeds of up to ninety-
five miles an hour in winter.

Emperor penguins, whose nesting ground is fifty miles inland from the

Emperor penguins, who are the largest among penguins, do not make
nesis.

The United States has sent researchers 1o Antarctica which are making
experiments to measure the energy expended by emperor penguins.,

On the TOEFL® Test

Pronouns are tested in the Written Expression section of the exam. Check for
the following tyvpes of errors with pronouns.

1.

The incorrect pronoun form or type may be used. The possessive
pronoun (hers) may be used instead of the possessive adjective cher).

Example: The young emperor chick stands in front of one of it parents
A B C
to be protected from the cold.

D

The best answer is (€); the possessive form #is must be used, not the
object form.

Example: Some penguins they live in warmer places like to make
A B
their nests in holes in the ground.

C D

The correct answer is (A); the relative pronoun which or that must be
used instead of the subject they.
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2. The pronoun may not agree with the noun it refers to.

Example: Sometimes pcngulns slide on their stomachs, pushlng itself
B C

with their mppcrs
D

The correct answer is (C); The noun penguins is plural; therefore, the
reflexive pronoun referring to penguins must also be plural. The correct
answer is themselves,

Example: Penguins have special glands who remove salt from the

A B
water they drink and the food they eat.
C D

The best answer is (B); the relative pronoun who refers to people. In
this sentence, the referent is glands; therefore, cither that or which
should be used.

Pronouns that arc not necessary may be included.

Example: The male Adélic penguin which may not leave the nest until

A B C
his mate returns.

D

The correct answer is (B); the relative pronoun which is not necessary
in this sentence because there is only one verb, leave.

Example: Under the feathers is a layer of fat that it protects

A B C
the penguin from the cold.

D
The best answer is (O); the pronoun if is not necessary.




=

A B
+' only one side of it body.
)
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Exercises on Pronouns

virs e T mierbiac words o nhiaaes tAY
(D), icicify Yo s bt Is ot cornach (8 8 ) or )

{B 1. The penguin chicks cannot go into the water to get themselves own

A e B
food until they have w(qéerproof coats of feathers like their parents
) . D
i Sk e

TR )

2. Balloons rise into the air because they contain a gas w : less dense,

" S

A
or lighter, than air.
D

3. The narwhal is the only animal in the world that has a tusk on

C

N7
4. Silver 1S 100 soft to use by itself, so it is mixed with another metal to
A B C

make Lhcmsclvcs‘ harder,
ADY |

5. Most slugs and snails breathe using a lung which opens through a small
A B

=2 ['] hole in the side of its bodies.

C D

6. Every fuel has their own particular temperature at which it begins to
A B C D

burn. 1\

7. Harrict Tubman.\shc an cscaped slave, led more than
LA J
three hundred slaves to freedom on the Underground Railroad.
B C D

8. Dreaming, like all other mental proccsscs"h is 4 product of the brain
A l! C
and its activity.
D

9. Snails produce a colorless. sticky discharge that forms a protective

A B [ |

carpet under them as their travel along,
( b

......







(- =
; PARTS OF A
(-]

Introduction: Phyllis Wheatley

Phyllis Wheatley was Kidnapped from Africa at the age of ¢ight. She was brought
to Boston in 1761, a sickly child only able to speak Senegalese. At the age of
thirteen she wrote her first poem. In 1773 her first book of poems wis
published, the second volume of poetry published by a woman in America,

At the Boston slave market, Phyllis was purchased by John Wheatley, a
tailor whose wife, impressed by the child’s aptitude, taught her to speak, read,
and write English. In a few vears Phyllis had also leamed geography, history, and
Latin and had developed a liking for classical poets such as Horace and Virgil.
Her first poem, a translation from the Latin of Ovid, so amazed the literary
circles in Boston that they had it published. In 1768 she wrote “To the King's
Most Excellent Health,” and in 1772 she composed a poem to her mistress, who
was so moved that she freed Phyllis and sent her to England to regain her health.

With the London publication of her book, Poems on Various Subjects,
Religious and Moral, her fame spread on both sides of the Atlantic, and she
became a celebrity.

Exercise 1

The various parts that make up a sentence are tested on the
TOEFL" Test. Underline the subject and circle the verb in the
following sentences.

At the Boston slave market, Phyllis was purchased by John Wheatley.
In a few years, Phyllis had learned geography, history, and Latin
Her mistress, Mrs. Wheatley, was impressed by the child's aptitude.

At the age of thirteen, she wrote her first pocm.

el ot S A

In 1773 her first book of poems was published.

6. With the London publication of her book, her fame spread on both sides
of the Atantic.

213 SEE,



24 TOEFL GRAMMAR FLASH

Exercise 2

In some sentences the verb agrees with ﬂnmmm
sentences the verb does not agree with the subject. Write C
for correct and NC for not correct.

1. Phyllis Wheatley was kidnapped from Africa.

2. History, geography, and Latin was the subjects she learned.

3. Classical poets such as Horace and Virgil were Phillis’s favorites.
+

. Phillis was purchased by Mr. Wheatley, whose wife were impressed by
her and taught her to speak English.

5. The literary circles in Boston were impressed by her poem
6. On both sides of the Atlantic her poetry was famous.

Grammar: Parts of a Sentence
The clause has a subject and a verb. It can stand independently or alone
1. A simple sentence contains a single clause.

She wrote a book
subject verb object

2. A compound sentence contains two independent clauses joined by a
conjunction (such as and or bub).

At age th'rteen she wrote her first poem
independent clause

=
Lunjunction

in 1773 she wrote her first book.
ndependent clause

3. A complex sentence contains an independent (main) clause aud a
dependent (subordinate) clause. The subordinate clause may be a noun
clause, an adverb clause, or an adjective clause.

Noun clause

(that, what, how . . )
Main clausc Subordinate clausc Adverb clause

(because, although, if . . )
Adjcctive clause

(who, which, where . . )
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SUBJECT AND VERB AGREEMENT
The subject and verb must agree in person and number,

Subjects Taking a Singular Verb
1. Subjects with the following prepositional phrases take a singular verb:
as well as ~ together with
along with in addition to
accompanied by among
Among ber works is To the King's Most Excellent Health. [
2. When the words below are used as subjects they take a singular verb:
one £ach any some , every |
Plus singular Plus singular
nowun noun
nobody  cither  anybody somebody everybody
Everyone was amazed by ber poems.

3. When #f introduces a sentence, #f takes a singular verb.
It was her poems that amazed everyone.
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Exercise 3

Choose the option (A), (8), (C), or (D) that best comple

1.

=t

During the war
wrote 2 poem for General
Washington, who compli-
mented her on her “style and
manner.”’

(A) Phyth/thatlcy was

a it was Phyllis Wheatley
C

(

) Phyllis Wheatlcy
Phyllis Wheatley she

was initially by
horse or foot in the colonial
period.

(A) It was land travel

: Land travel

(C) That land travel

(D) Because land travel

In 1736, the number of poor
people in Boston receiving
public assistance
about 4,000.

( A) was

(B) were
(€) it was
(D) they were

, Jupiter Hannon,
was the first American black to
publish his own verse.

(A) He was a poet and Baptist
preacher of Long Island

-~

;I(B) The poet and Baptist

J preacher of Long [sland
(C) The poet and Baptist
preacher of Long Island he
was
(D) The poet and he was a
Baptist preacher of Long
Island

5.

)

L

6.

—~

-

Outstanding for his talent as an
essayist, inventor, mathemati-
cian, and astrologer in the
1770s . who also
qulishcd a popular almanac.

'(A)) were Benjamin Banneker
(B) it was Benjamin Banncker
(C) was Benjamin Banncker
(D) Benjamin Banncker

During the eighteenth century,
communication within and
between cities at
first.

1 (;) were difficult

(B) they were difficult

(C) difficult

(D) was difficult
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IT AND THERE

Some sentences or clauses begin with it or there. Be aware of the construc-
including it and there may be omitted.

A sentence or clause may begin with the words /7 or there.
It is used in three ways:

1. It is used as subject followed by the verb (o be:
It was in 1761 that she came to Boston. (It + o be + that. . . . )
2. It is used as subject when the information is related to an adjective:
It was important to be free. (Ir + 10 be + adjective + infinitive)
3. [t is used as a subject when it is used with a time phrase:

It took ber a few years 1o learn English. (It + take + time phrase +
infinitive)

There shows that something or someone exists at a special time or place,
In this use, the word there follows this construction:

there + to be + subject

There are many books about Phyllis Wheatley today.
There were not many famous women poets in the 1770s.

v - -

Exercise 4

Circle the letter of the word that best completes the sentence.

1. not a single 2. _  _in 1776 that the
hard-surfaced road during the Declaration of Independence
entire colonial period aside 2 \ was signed.
from city streets. \f(A) It was
(A) It was (B) There was

{(B) There was (C) There
(C) It (D) It
(D) There were
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S - more than 300,000 | 5. After the Revolution, although
people in Philadelphia by the some advances were made in
end of the colonial period, education, a slow
making it the largest city in the Process.
colonies. k (A) they were
| There was e (B). it

It was L) it was
(C) They were (D) therec was
There were

4. In the eighteenth century,
not many women
who had access to formal
education in the colonies.

3 there were
it was

(C) were
(D) were there

On the TOEFL® Test

Mofcdu;:mmwa&t tructure section, whe
vcrb.orboﬂtmyﬁomluhg. | bt

Example: Postal service almost nonexistent in the colonies.

(A) that was
(B) was
(C) it was
(D) being

The best answer is (B); (A) is incorrect because that is needed only to
connect a relative clause to an independent clause, and in this case there
is only one clause. (€) is incorrect because it repeats the subject. (D) is
incorrect because the -ing form cannot be the main verb of a clause.

Example: twenty-two colonial newspapers by 1775.

(A) About

(B) About were

(C) Were about

(D) There were about

The correct answer is (D); (A) is incorrect because it lacks a verb. (B) is
incorrect because there is no subject. (C) is incorrect because it has the
wrong word order.
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Exercises on Parts of a Sentence

best completes the senfence.

From the four words o phvases (4, (8, (C), or D), hoose the one thet

7 in fluorescent
lamps, television tubes, and

other devices.

Phosphors are used
It is phosphors
(C) To use phosphors
(D) Using phosphors

—

2. The tips of some undersea
mountains islands
in the muddle of the ocean.

(A) 10 form
(B) theyform
1C)) form
M) forming

of fish: jawless fish,

. DRty
cartilaginous fish, and bony fish.

(A) Itis three types

(B) There arce three types
(€) Three types

(D) Three types are

1o stop yoursclf
trom blinking except for a short
period of time.

(A) Impossible it
(B) Impossible

(C) It impossible
(D) It is impossible

the sitka spruce a
hundred years to grow eleven
mches.

(A)) It takes
(B) To take
(€) By taking

!

(D) That takes

T

6.

.

8.

today was devel-
oped by the Swiss scientist
Horace de Sassure around 1773,

(A) Mountaineering it as we
know

: Mountainecring as we
know it

(C) We know mountaineering
is

(D) We know there is moun-
taincering

of the surface of
the Earth is covered by water.

" (A) Three-quarters is nearly

' There is nearly three-
____ quarters

(€)1t is nearly threequarters

(D) Nearly threequarters

By the mid-cighteenth century
SO Many new
ummigrants entering North
America from Europe that the
original colonics in the North-
cast were overcrowded.

(A) it were
(B) were
() there

{ (D) there were

Sl
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Introduction: The Olympics

The word “olympic” comes from the name of the town Olympia in Greece,
where the ancient Olympic Games were always held. The first recorded
Olympic Games were held in 770 s.o.; the Games took plice every fourth year
after that date until they were abolished by a Roman emperor in a.0. 394,

It was not until 1875, when archeologists discovered the ruins of the
Olympic Stadium in Greece, that interest in the Games was renewed. Baron
Picrre de Coubertin, a French scholar and educator, proposed that the Games
should be revived as an international competition to encourage both sport and
world peace.

The first modern Olympic Games were held in Athens in 1896, Like their
classical predecessors, the athletes were men only; women were admitted to the
Games in 1900. Since that time, the Games have been held at four-year intervals
as in ancient Greece. However, since de Coubertin's dream of world peace has
not been realized, the two World Wars prevented those of 1916, 1940, and 1944
from being held.

The Olvmpic Games have been confined to amateur athletes despite a few
recent exceptions. There are pressures on the Olympic authorities to admit
other professionals to the Games. Such a step would damage the entire concept
of the Olympics. The following words appear on the scoreboard at every
Olympic opening: ““The most important thing is not to win but to take part.” In
contrast, the aim of every professional is to win. ﬂ

Exercise 1

Verb forms are tested on the TOEFL" Test.

Complete the sentences with the correct form of the verb in parentheses.

1. The word “olympic™ (come) from Olympia in Greece
2. In ap. 394, a Roman empcror (abolish) _ the Olympic Games.
3. In 1875 archeologists (discover) the ruins of the Olympic

Stadium in Greece.
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Grammar: Verbs

TENSES
The following tables review verb tenses:
Usage Examples
Present Continuous Tense

1. An activity that is in progress at Mary is watching TV right now.
the moment

2. A general activity that takes place I'm training for the Olympics.
this week, this month, or this
year

3. Future arrangements I'm going to Sweden next winter.

Simple Present Tense

1. A habitual action 1 run every morning.

2. A general fact The sun rises in the cast.

3. Future timetables The ticket office opens at 9:00.

Simple Past Tense

1. An action that began and ended at ~ We won a gold medal last year.
a specific time in the past

2. An action that occurred over a She skated for fifteen years.
period of time and was com-
pleted in the past

3. An activity that ook place regu- She trained every moming before

larly in the past work.
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Usage Examples
Past Continuous Tense
1. An interrupted action I was watching the Olympics on
TV. when he walked in.
2. A repeated or continuous state in I was making many new friends at
the past the Olympic Village.
Future Tense (going to)
1. Expressing a prior plan My brother is going to go with me
next week.
2. Predicting something that is likely We are going to win. | know it.

1.

to happen in the future

Future Tense (will)

Predicting something that is likely You will win the race. I know it.
to happen in the future

Expressing willingness to do some- I will go with you if you like.
thing

Making a decision at the time of I will call you in a few minutes

spcaking then.
Future Continuous Tense

An action that will be continuing This time next week 1 will be

at a particular time in the future training for the race,
Present Perfect Tense

An action that happened at an un- I have seen him on television.
specified time in the past

An action that has happencd re- She has just gone out.
cently

An action that began in the past She has been training for two
and continues in the present years.

(usually with “for"” or “'since )
Repetition of an action before now  He has been to the Olympics sev-
eral times.

Present Perfect Continuous Tense

Expressing the duration of an ac- John has been swimming for two
tion that began in the past and hours.
continues in the present (with
“for,”" “since,” “all moming, "
“all day'™)
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Usage

Examples

2. A general action in progress re-
cently for which no specific
time is mentioned

3. An action that began in the past
and has just recently ended

I have been thinking about com-
peting next year.

Have you been crving? Your cyes
are red.

Past Perfect Tense

A past action that occurred before
another action in the past
2. An action that was expected to
occur in the past

She had just left when 1 arrived
there.

I had hoped to get their decision
before today.

Past Perfect Continuous Tense

1. Expressing the duration of an ac-
tivity that occurred before
another action in the past ycar

2. An action occurring recently be-
fore another action in the past

She had been competing for six

years before she tried out for
the Olympics last year.

He looked tired because he had

been running for six hours,

Future Perfect Tense

1.  An action that will be completed
before a particular time in the
future

By next June I will have partici
pated in four Olympics.

Future Perfect Continuous Tense

1. Expressing the duration of time
that has occurred before a spe-
cific time in the future

By next May I will have been train-

ing at this gym for eleven years.

A modal is always followed by the base form of a verb.

The following is a list of some modals:

can may will shall

could might  would

A modal expresses mood or attitude:

should have to

had better
ought to

must

Ability: She can run in the race.
Possibility: She could run in the race.

She might run in the race.

She may run in the race.
Advisability:  She had better run in the race.

She ought to run in the race.
She should run in the race.
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Necessity: She must run in the race.
She has to run in the race.
Intention: She shall run in the race.
She will run in the race.
Past Habit: She would run in the race.
Strategy
Remember the correct word order for modals.

run would in the race.

Correct word order: She would run in the race. Incorrect word order: She

Exercise 3

completes the sentence.

Circle the letter of the word or phrase that correctly

1. When archeologists discovered
the ruins of the Olympic
Stadium, interest in the Games

+ (.»\))' wias renewed
(B) were renewed
(C) they were renewed
(D) renewed

2. The ancient Olympic Games

as amateur contests,
but in time became profes-

rr;\ sional.

L @ begun
(B) began
AC) beginning
(D) they began

3. The Olympic Games arc held
every four years in a selected
country, and to
athletes of all nations.

(A) they arc opened
—(* (B) arc opened

(C) they are open

(D) itis open

4. Winning first place in an event
wias the only glory in the

ancient Games because second
and third places

(A) did not recognize

(B) are not recognized

(C) was not recognized
(D) were not recognized
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5. The winners received a wreath 7. The marathon, first staged in

from the branches 1896, the legendary
,@ made carried news of victory from
(C) making Athcns,
(D) to make : . was commemorated
_ | ' d
6. After more than 1,500 years, N PPy
FU fos this sien g;)) commemorates
of the fitst modemn Olynipics. commemorating
~ {R)) was chosen throughout the Games and is
. (C) is chosen then extinguished at the closing
(B) is burned
_@ burned
 burns
PASSIVE VOICE

The passive is formed by be + a verb ending in ed (past participle or an irregular
past participle). In a passive sentence, the object of an active verb becomes the
subject of the passive verb. The passive is used when the person or the thing
done is more important, or when the agent who did the action is not known.
Active: Archeologists discovered the ruins.

Passive: The ruins were discovered by archeologists.

- -

The following table shows how to form the passive:

Active Voice Passive Voice
1. The flame opens the Games. The Games are opened by the
flame.
2. The flame s opening the Games. The Games are being opened by
the flame.

3. The flame bas opened the Gamcs, The Games bave been opened by
the flame.
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Active Voice Passive Voice
4. The flame opened the Games. The Games were opened by the

The flame was opening the
Games,

The flame bad opened the Games.

flame.

The Games were being opened by
the flame.

The Games bad been opened by
the flame,

7. The flame will open the Games. The Games will be opened by the
flame.
8. The flame is going to open the The Games are going to be
Gamcs. opened by the flame.
9. The flame will bave opened the The Games will bave been opened
Games. by the flame.
Exercise 4
Place the verbs in parentheses in passive voice to complete
1. The first modern Olympic series (hold) in Athens in 18906,
2. The first Olympic Village (build) for the Games in 1932,
3. The Olympic flag (fly) for the first time in 1920,
4. In the 1936 Olympics, the orchestra (lead) by the composer
Richard Strauss,
5. The Olympic Games (cancel) in 1916 because of World War
I
6. Thc Summer Games (show) on television for the first time

in 1936.

—i




The gerund is formed by adding -ing to the base form of a verb. The gerund is
\medma:nom.nunﬁmﬁion'anmbmwect.orobjwm
T ———  — i

Rumnning is my favorite sport. (subject)

He tried running faster. (object)

She was afraid of losing. (object of preposition)

1. Gerund after Noun + Prepositions. N

choice of excuse for  intention of

He bas no intention of giving up now.

There was no reason for canceling the race.

2. Gerund after Adjectives + Prepositions

The following are some adjectives + prepositions that take the gerund:

accustomed to  afraid of  capable of
fond of good at interested in
successful in tired of

She is accustomed to training for many bours.
He is good at runmning the 200-meter race.
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3. Gerunds after Verbs
The following are some verbs that take the gerund:
admit deny postpone resume
advise discuss  practice risk
anticipate enjoy quit suggest
appreciate excusc recall tolerate
avoid finish reccommend  try
can't help keep regret understand
consider mind resent imagine
delay miss resist
He kept running until the end.

She enjoys running for competition,

4. Gerund after Verb + Preposition (Two-Word Verbs)
The following are some two-word verbs that take the gerund:
approve of give up rely on
be better off  insist on succeed in
call for keep on think about
confess to look forward to  think of
count on object to worry about
depend on put off prevent from
He succeeded in winning the race.

She did not give up boping.

5. Gerund or Infinitive

Some verbs can take either a gerund or an infinitive, with no difference
in meaning. The following are verbs that can take either a gerund or
infinitive:

advise dread mean remember
agree forget neglect start

allow hate permit stop
attempt intendd  plan study
begin leave prefer try
continuc like proposc

dislike love regret

1 love to watch the track races.
1 love watching the track races.
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Exercise 5

Circle the letter of the word that correctly completes the sen-

fence.

1. The authorities permitted 4. Women were not allowed
women in in more than
track and field events in the three events in 1932,

1928 Winter Games, (A) participating
(A) to take part (B) to participate
(B) taking part 5. The Roman Emperor Theodo-

2. Because of a lack of snow, sius ordered the Games
three thousand Austrian soldiers in A.n. 394.
were hired ' in (A) stopping
snow for the ski trails in 1964. (B) to stop
%g; :’ﬁgg,mg 6. The two World Wars prevented
| Sintar the Olympics from

3. In ancient Greece it was agreed place.

wars for the (A) taking
(A) to stop
(B) stopping
ON THE TOEFL"” TEST

In the Structure section, verb errors may involve the following:

1. A verb may not agree with its subject. A singular subject requires a
singular verb and a plural subject requires a plural verb.

2. A verb may be in the wrong tense. The time words and the context will

indicate the correct tense.

3. A verb may be in the active form instead of the passive or vice versa.
If the subject does the action, the verb must be active; if the subject
receives the action, the verb is passive.
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Exercises on Verbs

From the four words or phrases, choose the one that best

completes the sentence.

1. The first systematic chart ever
made of an ocean current
by Benjamin

Franklin.

(A) published

(B) was published

(C) pubhshing

(D) has been published

2, Petroleum on
cvery continent and beneath
CVery ocean.

(A) is found
(B) found
(C) are found
(D) find

3. Animals on
farth for at lcast 700 million
SCArs.

(A) living

(B) lived

() have lived

(D) have been lived

4. During the Ice Age, glaciers
" and retreated
several times over large areas of
the carth.

‘A) had been advanced
(B) were advanced
() have advanced
(D) advanced

5. Some fish
distortions of clectrical field
through special receptors.
(A) scnse
(B) are sensing
(C) are sensed
(D) senses

6. The widespread use of oil and
gas 10 make chemicals
during the

1920s.
(A) has begun
(B) began

(C) beginning
(D) begun
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Introduction: Mount St. Helens

Mount St. Helens, a volcano in the state of Washington in the United States,
crupted on May 18, 1980. Sixty-two people died due to the cruption. No one
was surprised by the eruption on Mount St. Helens. Scientists had been
predicting that an eruption was likely for almost two years before it happened.
In March 1980 a small eruption occurred and in April one side of the
mountain started o swell and crack. The scientists issucd warnings and asked
people to clear the area. On May 18 the mountain exploded. Hot gases burst
ut, followed by hot ash, which ran down the¢ mountain slopes burning
evervthing in its path. Two cubic kilometers of earth was thrown 60,000 feet
straight up into the atmosphere. Cities and towns were covered with powder,
The ash from the volcano was found as far away as the Atlantic Ocean, on the
other side of the continent
The top of the mountain was blown away and about 600 square kilometers
(230 miles) of land was destroyed, killing both animals and plants, Many thought
it would take decades for the land to recover, but the return of life was
remarkable. Today the slopes and valleys of Mount St. Helens once again have
abundant wildlife.

Exercise 1

Prepositions are tested on the TOEFL" Test. Complete the
sentences with the correct prepositions.

1. Mount St. Helens erupted May 18, 1980

2. Scientists had predicted that an eruption was likely, so no one was
surprised it

¥ April 1980 one side the mountain started 1o swell.

4. The explosion of hot gases was followed hot ash.

§. Cities were covered ash from the mountain.

6. The ash —_the mountain went as far as the Atlantic Ocean
the other side of the continent.

48




CHAPTER & PREPOSITIONS 49

Exercise 2
Look at the dmbolow showing ndunl disasters. Duerln
and what happened due fo the disaster.
Disaster Where When What Happened
Volcanic Krakatoa, Indonesia August 27, 1883 36,000 people died
eruption
Potato Ireland 1840s 1.5 million people
famine dicd
Flood Johnstown, May 1889 2,200 people died
Pennsylvania, U.S.
Earthquake  Tangshan, China July 28, 1976 242,000 people
died
Tidal wave Bangladesh 1970 200,000 people
died
Tornado Ohio, U.S. April 3, 1974 315 people died
Fire Yellowstone 1980 1.3 million acres
Park, US. burned

A volcanic eruption occurrved in Krakatoa on August 27, 1883. Due
to the eruption, 36,000 people died.

Grammar: Prepositions

Prepositions are not only used to show time, place, and agent but are also used
in combination with verbs, adjectives, nouns, and in many common sct
expressions. All prepositions cannot be listed in this chapter, but it will present
the important groups:

1. Verb 4 Preposition 4. Other Combinations with
depend on  lead to e

2. Adjective/Participle + Preposi as a result of  in addition to
tion 5. Prepositions of Time and Place
surprised at  famous for on May 16 in Washington

3. Noun + Preposition 6. Prepositions in Common

example of  possibility of Expressions

at present i general
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Strategy

Since the use of mdthearmlacanbewycofbsmgﬁw
imats'of B b bt 1 I o it el os
combination with other words. Errors on the exam mc ndudo the wrong
preposition being used or a preposifion being omitied it should not be.

?3

VERB + PREPOSITION

_account for  contribute to  insist on plan on
believe in depend on lead o rely on
belong 10 detach from  obtain from result in
confined to  fight for overcome by  withdraw from
Exercise 3

Complete the sentences with the correct prepositions.

1. The destructive phenomena of Mount St. Helens were not confined
volcanic debris.,

2. Valuable chemical products are obtained volcanic sub-
stances, including gold and silver.
3. The 1989 San Francisco earthquake resulted 59 deaths and

massive property damage.

4. One growing season after another without rain quickly leads
starvation in many parts of the world.

5. Discase can sometimes be overcome advances in modemn
medicine.
6. Since the Irish depended their potato crop for food, the

potato famine had devastating results.

7. Poor farming practices contributed the dust bowl as much
as weather conditions.

8. When there is famine in a country, the people must rely the
goodwill of other countries to provide them with the food they need.
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ADJECTIVE/PARTICIPLE + PREPOSITION

__accustomed to  different from  necessary for  responsible for

afraid of expert at opposed to successtul in

based on free from possible for surprised at

compared to famous for related to typical of
Exercise 4

1. The 1980 Mount St. Helens cruption ranks low comparcd
other volcanic eruptions.

2. Some people think it is necessary forest fires to happen
occasionally so that new trees will grow

3. Typical American enterprise, a thriving cottage industry
developed in marketing the ash from Mount St. Helens,

4. Volcanic ash in the atmosphere is responsible brilliant red
sunsets and sunrises,

5. The earth looks very different the way it looked millions of
years ago.

6. The type of gas ejected from a volcanic eruption is related
the volcano and the type of eruption.

7. Countries whose economy is entirely based agriculture
suffer most when a crop fails.

8. Pcople were surprised the amount of destruction the
eruption of Mount St. Helens caused.

NOUN + PREPOSITION

cause of equivalent of  influence on result of
cost of cvidence of nced for usc of
danger of  example of possibility of  solution to
effect on  increase in reason for supply of
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Exercise 6

1. According

Krakatoa was felt 11,000 miles away.

2. In addition

seismographs, tilt meters measure deformations

of the surface before volcanic activity.

" 3. The loss in terms

cruptions came to six million.

4. Airplanes and trains were affected because

after the cruption.

5. In view

their devastating results, much thought has been

given 1o forecasting volcanic cruptions.

6. Thirty-five people died as a result

cruption.

7. In spite

the death and destructon volcanoes cause, they

benefit the land in many ways.

8. Prior

the eruption, a 300foot bulge was observed on one

side of Mount St. Helens.

PREPOSITIONS OF TIME AND PLACE
1. Prepositions of Time

at

in

on

for/since

from. ..t

time of day (at 8 am.)

noon, night, midnight

parts of the day (in the morning/evening/
aftermoon)

month (in July)

season (in the fall)

year (in 1980)

decade (in the 1980s)

century (in the nineteenth century)
days of the week (on Monday)
dates (on March 20)

duration of time (for three days)
point in time (since March 20)

beginning time . . . ending from (from 8 am, to

5 pm)

some reports, the effect of the tsunami from

individual trees after the Mount St. Helens

poor visibility

the Mount St. Helens

=2
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2. Prepositions of Place

at address (at 200 Main Street)

on street/road/avenue (on Kings Road)
floor (on the second floor)

in building (in the drugstore)

city (in Los Angeles)
state (in California)
country (in Japan)
continent (in Africa)
from...t0 beginning point . . . ending point (from Alaska to

California)

Exercise 7

Complete the sentences with the correct prepositions.

1. Mount St. Helens had last erupted 1857.

2. Mount St. Helens exploded about 8 am. Sunday.

3. The eruption was May I8, 1980.
4. _the summer of 1816 the weather the United

States was affected by volcanic activity.

5. Mount St. Helens is the state of Washington.

6. The volcano Paricutin Mexico crupted 1943,

7. Before the eruption, Mount St. Helens was in one of the most beautiful
areas North America.

8. Most houses Reykjavik Iceland are heated by
natural steam.

9. Mount St. Helens started to be active March 20
May 18, 1980

10. A chain of volcanoes runs the Fast Indies ~ the
Mediterrancan.

PREPOSITIONS IN COMMON EXPRESSIONS

at times by land/sca/air  in common on fire

at present by far in general on the other hand
at first/last by chance in existence on the whole

at the moment by accident in the future/past  on purpose

by day/night in theory on land




CHAPTER 5 PREPOSITIONS 55

Exercise 8

1.

Yolcanoes land are best known, but those beneath the sca
sometimes make headline news.

times volcanoes have affected world weather,

theory, volcanic eruptions are difficult to classify.

There are about 500 volcanocs existence,

It looked as if the mountain were fire.

Volcanic ash is destructive; the other hand, it later produces
a very fertile soil.

general, a temperature of 100°C is reached at about 10,000
feet in the earth's crust.

Mount St. Helens was far the most publicized eruption in
recent times.

On the TOEFL” Test

Prepositions are tested in the Written Expression section of the exam. Check for
these two types of errors with prepositions:

1.

The wrong preposition is used.
Example: Mount St. Helens, a volcano in Washington state

A B
in the United States, erupted in May 18, 1980).
C D

The correct answer is (C); the preposition on must be used before a
date (/n is used before a month without a date).

Example: After the eruption of Mount St. Helens in 1980, the height of
C

A
the mountain was reduced of 400 meters.
D

The correct answer is (D), the preposition by should be used after the
verb “reduce’” in this sentence.
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2. A preposition may be omitted or a preposition may be used when it is
not necessary.

Example: Despite of its isolation in the Sunda Strait between Java and

A B C
Sumatra, over 36,000 people died in the tidal waves follow-
D

ing the explosion of Krakatoa.

The correct answer is (A); the preposition of should not be used in this
phrase (of is used in the phrase in spite of, but despite, which has the
same meaning, does not take a preposition).

Example: According experts 60,000 cubic feet of earth was thrown

A B
into the air in the explosion of Mount St. Helens.
C D

The best answer is (A), the preposition fo has been omitted from the
phrase according to.

Exercises on Prepositions

Identify one of the underlined words or phrases (A), (B), (C), or (D) that
should be rewritten or corrected.

1. The rocky island of Alcatraz in San Francisco Bay was discovered by the

A B
Spanish in 1769 and named by its large pelican colony.
C D
2. Bacteria are responsible of many of the textures and flavors in our food
A B C
and are particularly important in milk products,
D
3. Art Nouvean, a style that was in fashion in the 1890s, was based of long
A B C

curving lines inspired by climbing plants.
D

4. The brain is made up of billions of neurons that differ with each other

A B G
greatly in size and shapce,
D
5. Wood, the hardened material from which trees are com , 18
A B

made up of millions of tiny tubes of fibers packed together.
C D

Bt |
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Introduction: Islands

The world's ten largest islands (drawn to scale)

Island Ocean Island Ocean
1. Greenland Arctic 6. Sumatra Indian
2. New Guinea Pacific 7. Honshu Pacific
3. Bomeco Pacific 8. Great Britain Atlantic
4. Madagascar Indian 9. Victoria ArcCtic
S. Baffin Island Arctic 10. Ellesmere ATCtic

New Guinea
Borneo

Madagascar

Honshu
(Japan)
Sumatra

Ellesmere
(Canada)

Greenland

Baffin
Island
(Canada)

Great Britain

Victona (Canada)

KR
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Exercise 2

 Complete the sentences below with information from the

1. Greenland is the largest island. It is in the Ocean,

2. is the second largest island. It is in the
Ocean

7 is largest island, It is in
Ocean

4. is largest island. It is in
Ocean

S. is fifth largest island. It is in
Ocean.

6. is largest island, It is in
Ocean,

Grammar: Articles
THE INDEFINITE ARTICLE A OR AN

Strategy

Avoid confusion between a and an. Remember, an is used before a vowel

The indefinite article a or an is used:

1. Before singular count nouns to mean one. It is not used before non-
count nouns.

Australia is a continent,

2. An is used before a word that begins with a vowel sound (a, ¢, i, 0, u).
When words begin with “h* or “u,” either @ or an can be used
depending on the sound:

an uncle a home
a university an hour
a union an honor
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3. In a general statement:
An island is a body of land surrounded by water.

4. To introduce a subject that has not been mentioned before:
I saw a snake.

5. With certain numerical expressions:
a dozen a couple a hundred a third a halt

a great

*In this case a/an is a replacement for per,
6. With names of professions:

He is an engineer.  She is a biologist.

many a great deal  a lot of fifty miles *$10 a day
an hour

Exercise

3

Circle a

left if the sentence is correct. Write “NC” if the sentence is
not correct. Correct the error.

or an in the following sentences. Write “C”’ on the

Indonesia is a country made up of thousands of islands.

w2, Greenland is an big island with a permanent ice cap covenng it.

The Bahamas, which consist of 700 islands, have a superb
climate.

Robinson Crusoe is a character in a book by Daniel Defoe,

Robinson Crusoe spent twenty years with his friend Man Friday
on a2 uninhabited island.

New Guinea is a country where there are a 700 languages.
Etna is an active volcano on the island of Sicily.

On the island of Borneo, there is a snake that can fly or leap up
to 20 meters. =

9. The plants and an animals that live on an island may develop to

he anite different
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The definite article the can be used before any noun, singular, plural, count, and
noncount, when the noun is specific.

The isltand
The islands
Tbe water

The definite article is used:

[

1. When there is only one of the thing mentioned:

The sun is shining
The sky is blue.

2. When it is clear to both the speaker and the listener which thing or
person is referred to:

Could you open the door please? (Both the speaker and tbe listener
know which door it is.)

3. Before a noun mentioned for the second time:

A bird flew into the cassroom.
The bird sat on my desk.

4. Before superlative adjectives:
The biggest island is Greenland.

5. Before names of musical instruments:
He plays the piano.

6. Before a singular noun representative of a class of things (names of
animals, plants, inventions, and parts of the body):

The dodo is an extinct bird.

The Rafflesia is the world's largest flower.
Alexander Grabam Bell invented the telephbone.
He bit me on the bead.
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12. Before names of oceans, rivers, seas, gulfs, and plural names of moun-

tains. islands, and lakes (no article is used with singular mountains,
islands, and lakes): =2

The Pacific Ocean T'be Mississippt River
The Gulf of Mexico The Black Sea
The Appalachian Mountains ~ Mount Washington
The Hawaiian islands Manhattan Island
The Great Lakes Lake Michigan
13. Before geographic arcas, but not before names of continents:
The Middle East  Asia
The Orient Europe
14. Before the names of fields of study when they contain the word of
The History of the United States  History
The Literature of the Sixties Biology
15. Before the names of wars (not including the World Wars).
The War of Independence  T'be Civil War
World War 11 The Second World War
16. Before the names of ships, planes, trains, and people’s family names (the
definite article is not used with the names of people and names of
magazines):
The Browns Robert Brown
The Mayflower Time Magazine
The Orient Express
Exercise 4

llllneln blanks with the correct article a, an, the, or o.

Islands make up entire land area of some countries, including

Japan and . Philippines.
__ Florida Keys are coastal islands built on coral reefs.
' Mackinac Island in __ Lake Michigan is | lake island.
city of Montreal, in Canada, is built on __ large river
island.
___ Aleutian Islands, part of ______ Alaska, arc _______ string of

coastal islands that were built by volcanoes.
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3 1.

|

On 1 big island of Hawaii is one of = world’s greatest
volcanoes, ' Mauna Loa.
Kilauea is most active volcano in L__state of & Hawaii,
The carly scttlers of 0 Pacific Islands, Polynesians, always
carried coconuts with them in their canoes.
In Indonesia is ______ huge lizard, Komodo Dragon, that
cats dccr and attacks people.
__dodo, a giant bird now extinct, lived on _ island of

Mauritius, in t\7__ Indian Ocean.

On the TOEFL" Test

Articles are tested in the Written Expression section of the exam. Check for
these three types of errors with articles:

The article may be used when it is not necessary, or not used when it is
necessary.

Example: Pelican Island in Florida and Oregon Islands in Oregon are

A B C
wildlife rcfugcs

The best answer is ((') the definite article the should not be omitted
from the name of a plural group of islands. Rore et e

Bxamplex The most conl islands develop from reefs that grow up

A B C
around volcanic islands,
D

The best answer is (A). This is not a superlative form; therefore the
article is not necessary.

2. An is used instead of @ or vice versa. Also a or an may be used instead

of the or vice versa,

Example: A broad expanse of sea with a large number of iskands is
A B C
called a archipelago.
D

The best answer is (D). An must be used before a noun beginning with
a vowel sound.

Example: When the island of Surtsey was eighteen months old a first
A B C
lcafy green plant appeared.
D

The best answer is (C). The definite article the must be used with an
ordinal number.
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3.

Another word like a possessive adjective may be used instead of the
article or vice versa.

Example: The new island of Surtsey is its ideal natural laboratory

A B C
for scientists.

D

The best answer is (C). The indefinite article an meaning “one’’ must be
used.

Example: Coral reefs are limestone formations composed of

A B
tiny sca organisms and the remains.

C D

The best answer is (D). The possessive adjective their must replace the
definite article the 1o show its reference to sea organisms.

Exercises on Articles

mummm«mmmmu

(D), identify the one that is not correct.
1. The watt is named after James Watt, the British engincer who developed
A B
the steam engine in 1760s.
C D
2. Mcthane is a odorless burning gas and is the main ingredient of
A B C
natural gas.
D
3. The alcohol acts as a narcotic on the nervous system and the brain.
A B C D
4. Zachary Taylor was first president to be elected from a state west of
A B C
the Mississippi River.
D
5. Barnacles, which are related to lobsters, shrimp, and crabs, make
A B C
strongest glue.
D
6. In the 1860s Louis Pastcur discovered that bacteria in air caused

A B
the perishable food to go bad.

C D
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Introduction: Michael Faraday

During the last 400 years, most scientists have relied on mathematics in their
development of their inventions or discoverics. However, onc great British
scientist, Michael Faraday, did not make use of mathematics. Faraday, the son of
a poor blacksmith, was bom in London in 1791 and had no education beyond
reading and writing.

In 1812 Faraday was hired as 2 bottle washer by the great chemist
Humphry Davy. Later, Faraday became a greater scientist than Davy, making the
last years of Davy's life embittered with jealousy,

Faraday made the first electric motor in 1821, a device that used clectricity
to produce movement. Then Faraday became interested in the relationship
between electricity and magnetism. In 1831 he discovered that when a magnet
is moved ncar a wire, clectricity flows in the wire. With this discovery he
produced a machine for making electricity called a dynamo. Faraday then went
on to show how clectricity affects chemical substances.

Because Faraday believed that money should be given to the poor, when
he grew old, he was destitute. However, Queen Victoria rewarded him for his
discoveries by giving him a stipend and a house. He died in 1867.

Exercise 1

andcumonn&.donﬂu!b!ﬂ'hﬂ.mmm
blanks in the following sentences with that and g

1. Humphry Davy was jealous Faraday became a greater scientist
than he.

2. Faraday discovered when a magnet is moved near a wire it
produces electricity.
Faraday showed clectricity affects chemical substances,

4. Faraday showed great scientific discoveries could be made

without the use of mathematics.
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5. Faraday believed

6. Faraday's invention meant
power and lt by electric light.

money should be given o the poor.

homes could be heated by electric

Exercise 2

Choose the correct noun clause to complete the sentence.

1. Faraday discovered
(A) that a magnct creatcs
electricity in a wire
(B) what clectricity is

2. Faraday showed
(A) why clectricity does not
 affect chemicals
(B) how electricity affects
chemical substances

3. It was obvious ;
(A) why Humphry Davy was
jealous of Faraday
(B) how Humphry Davy was
~ jealous of Faraday

Grammar: Noun Clauses

4. Faraday believed

(A) what cverybody told him
(B) that money was not
important

It can be scen

(A) how mathematics is
important to scientific
discovery

that mathematics is not
necessarily important in
scientific discovery

5.

(B)

A noun clause is a subordinate clause. A noun clause has a subject and a verb,
and can be used like a noun, either as a subject or an object.

1. As Subject

His discovery was important.
Noun

His discovery is a noun. It is the subject of the sentence.

What he discovered was important.
Noun clause

What be discovered is a noun clause. It is the subject of the sentence, It
has a subject be and a verb discovered.
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2. As Object

People believed his discovery.
Noun

His discovery is a noun. It is the object of the verb believed.

People believed what he discovered.
Noun clausc

What be discovered is a noun clause. It is the object of the verb
belteved.

Noun clauses are introduced by the following words:
when who/whom whether that

where what if

why which

how whose
NOUN CLAUSES BEGINNING WITH A
QUESTION WORD

Question words such as when, where, why, bow, who/whom, what, which, and
whose can introduce a noun clause.

Question Noun Clause
1. What did he discover? 1 don't know whar be discovered.
2. When did he discover I'm not sure when be discovered il

it?
3. Where did he discover It is not known where be discovered it.
it?

4. How did he discover it? I'm not certain how be discovered it

5. Who is Faraday? I don't know who be is.

6. Whosc discovery is that? It is not certain whose discovery that is,
7. What did he discover? What be discovered is not certain. (What

be discovered is the subject of the sen-
ence.)
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Strategy

Do not use question word order in a noun clause. The subject comes belore
the verb in a noun clause.

Exercise 3

Which of the following sentences do not have correct word
order in the noun clause? Write “C” for correct or /NC” for
not correct.

- L It is amazing what discovered Faraday in the field of science
without the use of mathematics

2. Early scientists did not know how a strong, steady electrical
current could be produced.

. 3. How Faraday did his experiments without the use of mathemat-
ics is not known.

4. Inthe early 1800s it was unknown what was the electric
current.

5. People have known what are the effects of electricity since
ancient Hmes.

6. Before Faraday's experiments, people were unsure what the
connection between electricity and magnetism was,

NOUN CLAUSES BEGINNING WITH WHETHER OR IF

When a ves/no question is changed to a noun clause, whether or if is used to
introduce the clause.

Question Noun Clause

Will it work? He wonders whetberyit will work.
He wondersJdf it will work.

Did they believe him? 1 don't know whether; they belfeved bim.
I don't know, i/, they belicved bim.
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NOUN CLAUSES BEGINNING WITH THAT

For a statement of a fact or an idea, the word that is used to introduce the noun
clause.

Statement Noun Clause

1. The world is round. We know that the world is round. (That the
world is round is the object of the verb
know.)

2. The world is round.  We know the world is round. (The word that is
frequently omitted in spoken English.)

3. The world is round. That the world is round is a fact. (That the
world is round is the subject of the sentence
The word that cannot be omitted when it in-
troduces a noun clause that is the subject of a
sentence.)

A noun clause must have a subject and a verb. Look for a subject and a verb
when the noun clause is the object or the subject of a sentence.

Exercise 4

Circle the letter of the correct noun clause that completes the
sentence.

1. Faraday argued that : 2. Itis a fact that form

(A) electricity in a wire of energy.

magnetic effect (A) clectricity is the most
(B) clectricity in a wire by uscful

magnetic effect (B) eclectricity the most useful
(C) clectricity in a wire (€) the most useful in

produced a magnetic clectricity

effect (D) electricity being the most
(D) a magnetic effect pro- useful

duced by electricity in a

wire
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Exercises on Noun Clauses

mmmm«mm,(n),(q,wm,
the one that best completes the sentence.

1. Astronomers studied the 1987
Supernova to leam ___ L
when a star explodes.

(A) what happens

(B) that happens

(C) that is happen
(D) what does happen

2. Despite recent attempts to
prove did indeed
reach the North Pole in 1909,
the evidence still remains
questionable.

(A) what Robert Peary
(B) that Robert Peary
(C) Robert Peary, who
(D) Robert Peary was

3. Around 1789, Antoinc Lavoisier
was the first person 0 demon-
strate all Kinds of
burning involve the addition of
oxygen
(A) if
(B) what
(C) that
(D) so that

4. Where is the com-
moncst form of color-blindncss.

(A) are the red and green not
casily distinguished

(B) they are not casily
distinguished red and
green

(C) are not easily distinguished
red and green

(D) red and green are not
casily distinguished

5.

It has been estimated
milligram of skin scales have
over half a million bacteria.

(A) that a
(B) how a
(C) a

(D) tobea

It is only in the last 200 years
have begun climbing
mountains.

(A) because people
(B) that pcople
(C) people

(D) as people

of smell might,
without our realizing it, affect
who we choose as friends has
been suggested.

(A) That our sense
(B) Sense

(C) For our sense

(D) Because our sense

From the existence of radio
waves, most scientists were
convinced __ really
happened.

(A) the Big Bang was

(B) it was the Big Bang
(C) how the Big Bang

(D) that the Big Bang




9.

10.

11.

Sam

old.

(A)
(B)
(©)
(D)

sca |
mak
(A)
(B)

(€)
(D)

can
four
in a
(A)
(B)
(©)
(D)

ADJECTIVE CLAUSES

Introduction: American Indian Smoke Signals

The smoke signals used by American Indians did not convey the complex
messages seen in Hollywood movies. Smoke signals were in fact used among the
seminomadic tribes of the Great Plains. However, their content was limited to a
few simple messages whose meaning had been agreed upon in advance. For
example, Piman warriors in Arizona who had just finished a successful raid
might send up a column of smoke, and the village would reply with two
columns of smoke. Smoke signals were most commonly used to broadcast news
of victory in batde, or to warn of sickness in a camp or dangers such as
approaching enemics.

Fires fed with damp grass or boughs of evergreen sent up the one or two
simple, unbroken columns of smoke needed to send a message. The place that
the signal came from—whether on a hill or in a valley—conveyed most of the
meaning, When Apaches out hunting spotted another group of Indians in the
distance, they lit a fire conspicuously to the right of their own party that meant,
“Who are you?"' If the others were friends, they would then use a prearranged
reply.

Exercise 1

clauses are tested on the TOEFL" Test. Complete the
sentences with the relative pronouns which, who, whose.

1. The smoke signals the American [ndians used did not
convey complex messages.

2. The signals contained simple messages mecaning had
been agreed upon in advance.

3. A warrior had finished a successful raid might send a
simple column of smoke to his village

4. They made fires were fed with damp grass.

76
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5. It was the place the signal came from conveyed most
of the message.
6. When one group spotted another group of Indians, they lit a fire to their
| he righl — meant, _Who are you?"'
Exercise 2

Choose the correct relative pronoun in parentheses to
complete the sentence.

1. The seminomadic tribes of the Great Plains used smoke signals (which/
who) were simple.

2. A signal (whose/which) conveyed victory in battle was agreed upon in
advance.

3. The Hollywood movies (which/whom) we watch do not give a true
picture of the Indians.

4. A party would send a column of smoke (which/whom) the other
understood.

5. Drumbcats (whose/which) are used by tribes in Africa can give more
complex signals.

6. A warrior (who/which) saw an enemy approaching might send a smoke
signal.

Grammar: Adjective Clauses

An adjective clause contains a subject and a verb. An adjective clause is a
subordinate or dependent clause, it must be connected to a main or
independent clause. An adjective clause modifics a noun. Adjective clauscs
begin with a relative pronoun such as wbo, whom, whose, which, that, or a
relative adverb such as when or where.
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IDENTIFYING ADJECTIVE CLAUSES

Clause

Marker Use Example

who People The tribes who lived in the Great Plains used
(subject) smokc signals.,

whom People The woman whom we met was called Light-
(object) ning Cloud.

whose People/things He sent a message whose meaning we had
(possessive) agreed upon in advance,

which Things That is a tribe which interests me. (subject)
(subject/object)

The drumbeats which we heard sent a mes-
sage. (object)

that People/things The Apache is a tribe that 1 will research.

(subject/object) (object)
The smoke that vou see is from the hills.
(subjecct)

where Place That is the valley where the tribe lived.
(adverb)

when Time That is the day when we get the signal
(adverb)

Strategy

Check for the correct clause marker and @ subject and verb in on adjective

Exercise 3

Underline the adjective clauses in the following sentences.

1. Sacagawea, who was a Shoshoni Indian, guided Lewis and Clark to the
Columbia River.

2. The giant redwood trees that grow in California are named after
Sequoyah, who created an alphabet for the Indian people.

3. Sequoyah became a teacher and moved to Oklahoma where he contin-
ued to teach the alphabet.

4. The Shoshoni were a group of Indians who lived in the western plains
of Wyoming, Utah, Nevada, and Idaho.
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aa”m clause, also ca

REDUCED ADIJECTIVE CLAUSES

Adjective clauses can be reduced to phrases. An adjective phrase modifies a
noun. An adjective phrase does not contain a subject and a verb.

Adjective Clause: The man who is driumming (s African.
Adjective Pbrase: The man drumming is African.

Only adjectives that have a subject pronoun, who, which, or that, can
be reduced.

Clause: The man who is playing the drums is well-known.
Pbrase: The man playing the drums is well-known.

Clause: The man (wbom) | met was well-known.
Phrase: not possible

There are two ways to reduce an adjective phrasc.
1. The subject pronoun and the be form of the verb are omitted.

Clause: The man who is playing is my friend.
Pbrase: The man playing is my friend.

Clause: The signals which are given are simple.
Phrase: The signals given are simple.

Clause: The tones that are in the language are importani.
Phrase: The tones in the language are important.

2. When there is no form of be in the adjective clause, you can omit the
subject pronoun and change the verb to the -ing form.

Clause: The Cherokee Indians bave an alphabet that consists of
eighty-five characters.

Phrase: The Cherokee Indians bave an alpbabet consisting of eighty-
Jive characters

Clause: Anyone who wants to get the news can listen to the message.
Phrase: Anyone wanting to get the news can listen to the message.

Adjective phrases are usually separated by commas, as in adjective clauses.

Clause: Sequoyab, who was the inventor of an Indian alpbabet, was a
Cherokee Indian.

Pbrase: Sequoyabh, the inventor of an Indian alpbabet, was a Cherokee
Indian.
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ExerciSe 5

‘Where possible, reduce the adjective clauses to phrases.

1. Sequoyah, who wa.;‘ the son of an Indian mother and a European father,
was born in Tennessee.

2. Sequoyah, who was first 4 hunter, became a trader after a hunting
accident.

3. Sequoyah, who had no education, believed that reading and writing
were important.

4. Sequoyah, who worked on the alphabet for twelve years, finally com-
pleted it in 1823,

5. His alphabet, which consists of cighty-five sounds, was an important
invention for his people.

6. A Cherokee newspaper whose columns had news both in English and
Cherokee was soon published.

7. Thousands of Cherokees who did not know how to read or write started
to write using the new alphabet.

On the TOEFL® Test

Adjective clauses arce tested in the Structure section of the exam. In the item,
certain or all parts of an adjective clause may be missing. It is important to

remember what an adjective clause is and what an adjective phrase is; that is, if

a subject and verb are necessary or not.

Example: Pythons live in rugged tropical areas heavy rainfall
and forests.

(A) they have

(B) that have

(C) where the

(D) have

The best answer is (B). (C) is incorrect because where is the incorrect
connector and the clause does not have a verb. (A) is incorrect because
there is no connector joining the first and second clause. (D) is incor-
rect because there is no connector between the verb bave and the rest
of the sentence.

Reduced adjective clauses are also tested in the Structure section. Again,

part or all of the phrase may be missing from the stem.
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Example: In 1880, George Fastman, dry-plate manufacturer,
introduced the Kodak box camera.

(A) who an American
(B) he was an American
(€C) an Amcrican

(D) was an American

The best choice is (C); (A) is incorrect because there is no verb in the
relative clause. (B) does not have a connector to join the clause to the
rest of the sentence. (D) is not correct because it contains a verb and a
phrase cannot have a verb,

Exercises oN ApJecTive CLAUSES

F the four words A), ' ’
m':mmmm orplmn( ) (s),(c) or (D), choose

1. The thyroid gland, s 3. According to legend, Betsy Ross
located in the neck. was the woman the
(A) where the hormone first American stars and stripes
thyroxine is produced flag.

(B) where produced is the (A) whom she made
hormone thyroxine () made

(C) the hormone thyroxine is (€C) who madc
produced there (D) and she made

(D) at which is produced the

hormone thyroxine 4. Pumpkin sceds,

protein and iron, are a popular

2. Dragonflics feed on a large snack.

variety of insects (A) that

catch in flight. (B) providc

(A) in which they (C) which

(B) which they (D) which provide

g;)) $:r': :: ;0 5. The spinal cord is a long, thick
bundie of nerves from
the brain to the lower part of
the back.
(A) that runs
(B) is running
(C) it runs

(D) whom it runs




84

TOEFL GRAMMAR FLASH

6.

7.

George Pullman introduced a
dining car its own
kitchen in 1868,

(A) it had
(B) that had
(C) that it had
(D) having
-
In 1898, pharmacolo-

gist, John H. Abel, isolated the
hormone adrenaline.

(A) an American who
(B) who, an Amcrican
(C) an American

(D) he was an American

Nitrogen gas, up
about 78 percent of our
atmosphere, is constantly being
used by plants and animals.

(A) which it makes
(B) it makes

(C) makes

(D) which makes

Paper is made from cellulose
fibers, in all cells.

(A) arc

(B) which are

(C) they are

(D) which they are

10. The pepper plant bears a small,

11.

12.

green berry red as it
ripens.

(A) which turns

(B) turns

(C) it turns

(D) that it turns

Quinine, ________ once used to
cure malaria, was taken from
the bark of a South American
tree, the cinchona.

(A) it is a famous drug

(B) is a famous drug

(C) a famous drug .
(D) is a famous drug whose

Billie Holiday, unique
singing style made her famous,
was also known as Lady Day.

(A) sheisa
(B) whom
(C) who

(D) whose
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Introduction: Distant Galaxies

The development of the radio telescope has led to two of the most important
discoveries in modern astronomy: the identification of the most distant galaxies
and the smallest stars ever seen. Before these discoveries were made, new large
telescopes had to be built

The most distant galaxies are called quasars. They were discovered in 1963
when astronomers noticed strong radio signals coming from small points in the
sky. When the radio astronomer Maarten Schmidt from Mount Palomar
Observatory looked at these points, he saw faint galaxies that could be seen only
because they were shining brightly. These galaxies, or quasars, were the most
powerful objects ever discovered, and are the most distant objects even seen.
Some arc over 13,000 million light-ycars away. They get their power from a
huge black hole at their center.

A black hole is a region of space where the pull of gravity is so strong that
even light cannot escape. When gas and dust fall into the black hole at the
center of a quasar, they produce large amounts of light and heat. Although black
holes are very small, they are extremely heavy. A black hole less than a
centimeter across can welgh the same amount as the Earth. The black holes in
the center of quasars may weigh up 1o 100 million times as much as our sun.

Exercise 1

Adverb clauses are tested on the TOEFL® Test. The blanks in
the sentences introduce adverb clauses. Complete the
blanks with one of the following words:

before  when because although

1. New, large telescopes had to be built important
discoveries were made.

2. Quasars were discovered astronomers noticed radio
signals.
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3. Maarten Schmidt saw faint galaxies he looked at points
in the sky.
4. The points could be seen they shone brightly.

5. Light and heat are produced in the center of a quasar
gas and dust fall into it

6. black holes are small, they are extremely heavy.

Exercise 2

Choose the correct adverb clause marker from the
parentheses.

1. Quasars are an important discovery (because/although) they are the
most powerful objects ever seen.

2. The outer planets are cooler than the inner ones (as/whereas) they are
further from the sun

3. A black hole is a region of space (where/whenever) the gravitational
pull is so strong that nothing can escape.

4. Radio waves from distant regions of space could be studied (while/after)
the radio telescope was invented.

5. Telescopes see distant objects more clearly (whereas/because) radio
telescopes collect radio waves.

6. Astronomers did not know about quasars (before/so that) radio tele-
scopes were invented.

Grammar: Adverb Clauses

An adverb clause is a subordinate clause (dependent clause) with a subject and
a verb. An adverb clause may come before or afier the main clause (independent
clause). When it comes before the main clause or at the beginning, it is usually
separated from the main clause by a comma.

When Schmidt looked at the small points, be saw galaxies.
Schmidt saw galaxies when be looked at the small points.
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|
!

The foliowing are some common words used to introduce an adverb clause.

1. Clause markers showing time:

after by the time  until

as once when
before since whenever
as soon as till while

Meteors glow as they burn up in the armosphere.
It was difficult to observe the stars before the telescope was invented.

2. Clause markers showing manner:
as  asif  asthough  justas  like

Anclent peoples used the stars as if they were calendars.
The Milky Way looks as though (t is a faint band of light.

3. Clause markers showing cause and effect:

because since as
now that as long as s0O that

Spacesuits were designed for astronauls so that they could breathe in

space.
Since some planets are too far away to send people, computer-
operated space probes are sent.
4. Clause markers showing opposition:
although while
though whercas
even though

Most stars are white while some are colored.
Although belium is rare on Earth, it is common in the universe.

5. Clause markers showing condition:

if in the event that provided that unless
cven if  in casc that
only if

You will see bundreds of stars if you look at the sky.
You can study distant stars provided that you bave a radio telescope.
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6. Clause markers showing purpose:

so that in order that so (that)
in order to (That is often omitted in

spoken English.)

Astronomers improved telescopes so that they would discover more
about the stars.

Astronomers developed bigger and bigger telescopes in order to see
the stars more clearly.

7. Clause markers showing result:
S0 . . . that such . . . that

The stars are so far away that they cannot be seen without a tele-
scope.
The meteor bit the Earth with such force that it made a crater.
8. Clause markers showing place:
where  wherever  everywhere

There were stars wherever she looked.
A crater was formed where the meteor bil the earth.

Strategy

Look for the adverb clouse markers and make sure that the adverb clause
has both a subject and a verb.

Exercise 3

Underline the adverb clauses in the following sentences.

1. Although millions of meteors hit the carth’s atmosphere, few of them
“are noticed.
2. A meteor leaves a bright trail as it streaks across the night sky.

3. Many meteorite falls are not noticed because they hit the carth in
remote uninhabited areas.

4. The rate of the sun’s radiation is so great that about 3 million tons of
matter is converted into energy every second.

5. In ancient times, farmers planted crops when they saw a planet in the
right part of the sky.

6. Even though a planct moves among the stars, it retums to the same pan
of the sky at the same time each year.
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Adverb clauses may be reduced to modifying phrases in the same way as
adjective clauses are reduced to modifying phrases. A reduced adverb clause or
modifying phrase does not contain a subject or a verb. It consists of a participle
(present or past participle) or an adjective and clause marker (altbough, when,
or while).

Full: After the space probes landed on Mars, they sent back pictures.
Reduced: After landing on Mars, the space probes sent back
pictures.

Full: Altbough the moon rocks were expensive o obtain, they pro-
vided valuable information.

Reduced: Although expensive to obtain, the moon rocks provided
valuable information.

An adverb clause may be changed to a modifying phrase only when the subject
of the main clause and the adverb clause are the same.

Adverb clause: After the space probe landed on Venus, it mapped the
surface.

Modifying pbrase: After landing on Venus, it mapped the surface.

Adverb clause: After the space probe sent pictures, astronomers
examined them.
Modifying pbrase; not possible

PREPOSITIONAL EXPRESSIONS

Some prepositions have almost the same meaning as some of the clause
markers, but they can be used only with nouns, noun phrases, or pronouns.
They cannot be used with clauses.

Cause/effect: Many of the planets are cratered because of meteor
bombardment.

Concession: In spite of the damage to the spacecraft, the astronauts
Rgot back to Earth safely.

Condition: In case of contamination, special suits were worn.

Titme: Radio recefvers were used during the Second World War.
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Exercise 4
The sentences contain adverb clauses, reduced

following
adverb clauses, and prepositional expressions.
wam:ucmmwmmm

Circle the

1.

W

the Ancient Chinese
and Egyptians took astronomy
seriously, the Greeks were the
first to study the stars scientifi-
cally.
(A) Although
(B) Despite
(C) For
(D) Nevertheless

the development of
radio telescopes, distant regions
of the Universe can be ob-
served.

(A) The rcason
(B) Because of
(C) Because
(D) It is because

Supernovas are caused
a star dies.

as when

that

when

it is

(A)
(B)
(©)
(D)

In 1987 a Canadian astronomer,
lan Shelton, spotted a super-
nova looking at some
photographs of the stars.

(A) was

(B) during

(C) asif

(D) while he was

the 1987 supermova
wWas SO near, astronomers were
able to study it carefully,

(A) Although
(B) Since
(C) It was
(D) As it was

used simple instru-
ments, the ancient Greek
astronomer, Hipparchus, made
the first accurate map of the
stars 2100 years ago.
(A) EFEven though
(B) Even though he
(C) Nevertheless
(D) In spite of
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1.
2.
3.

On the TOEFL" Test

Adverb clauses are tested in the Structure part of the exam. In these items, any
part of the adverb clause may be missing from the stem: it may be the clause
marker, the subject, the verb, or other parts of the clause.

It is important to remember the following:

An adverb clause contains a subject and a verb.

A reduced adverb clause does not contain a subject and a verb.
Use the correct clause marker for the adverb clause.

Example: the solar system may seem big, it is a very small part
of the universe.

(A) Despite
(B) Although
(C) Even though it
(D) Because

The best answer is (B). (A) is incorrect because despite cannot be used
in an adverb clause that has a subject and a verb. (C) 1§ incorrect
because it contains a subject, i, which is repeated again in the same
clause. (D) is incorrect because it contains the wrong clause marker,
giving reason instead of concession.

Example: Ancient astronomers looked at the stars could
make predictions about the future,

(A) they

(B) so

(C) so that they

(D) as they

The best answer is (C).
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Exercises oN Apvere CLAUSES

the one that best

senfence.

l'nmlhofarwodsorphum(ﬂ,(ﬂ), (€), or (D), choose
completes the

1. Plexiglas is used in aircraft
windows is almost
unbreakable.

(A) it

(B) because it
(C) because
(D) it because

2. American Indians grew popcorn
for a few thousand years
arrival of European
explorers in the 1400s.

T

cannot meet its cncrg) nccds

(A) that carbohydratcs

(B) when carbohydrates

(C) when they are carbohy-
drates

(D) that when carbohydrates

4. Spider monkeys are the best
climbers in the jungle.
they do not have thumbs.

(A) nevertheless
(B) for

(C) despite
(D) although

5. Stars are hot bodies that give
out light of their own,
planets shine only by reflecting
light.

(A) however there arce
(B) since

(C) whereas

(D) while they

6. A silkworm has glands that
secrete a liquid that hardens
into silk comes into

distances, quasaxs have rela-
tively high magnitudes

(A) Whereas
(B) In spite of
(€) Although
(D) Yet

8. body’s activities put
strains on certain bones, these
bones strengthen themsclves
where the stress is greatest,

(A) Thatif
(B) That

(C) Because of
(D) If the




o

for a few thousand years
— arrval of European
cxplorers in the 1400s.

(A) before
(B) before the
(C) since
(D) since they

3. The body uses proteins for
energy and fats
cannot meet its energy needs,

(A) that carbohydrates
(B) when carbohydrates

(€) when they are carbohy-
drates
(D) that when carbohydrates

Spider monkeys are the best
climbers in the jungle,

they do not have thumbs.

(A) nevertheless
(B) for

CHAPTER 9 ADVERB CLAUSES
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6. A silkworm has glands that
secrete a liquid that hardens
into silk comes into
contact with air.

(A) asit
(B) when
(C) that
(D) it

7. ____ their immense
distances, quasars have rela-
tively high magnitudes.

(A) Whereas
(B) In spite of
(C) Although
(D) Yet

body’s activities put
strains on certain bones, these
bones strengthen themselves
where the stress is greatest.

(_A? That if

93

lo.

. Herman Melville is
now regarded as once of
America’s finest writers, his
greatest works mystified readers
in his own lifetime.

(A) Itis despite

(B) Despite

(C) Even though

(D) In spite of (

lascr beam can be
moved easily in all directions, it
can be used for highly accurate
cutting in industry.

(A) Because of
(B) Itisa

(C) A

(D) Asa

11.

12. E

Limestone powder is added to
animal feed __ animals
form good strong bones.

(A) why

(B) so that

(C) as a result of
(D) it is that

sodium chloride (salt)
is not used by sealiving
organisms, it forms the domi-
nant mineral in seawater.
(A) Since
(B) It is since
(C) Although
(D) Although it




PREPOSITIONAL
PHRASES

Introduction: Land Art

The land art movement first appeared in the U.S. in the late 1960s. Most of the
work was created in a landscape setting, using whatever materials the artist
came across. Part of its appeal is that in many cases the artist’s work is quickly
changed by the forces of nature. For example, Robert Smithson built a vast
spiral jetty from earth and stones in the Great Salt Lake in Utah. Now deposits of
salt and sulphur have completely changed the way it looks.

Some land artists welcomed such impermanence, because it meant their
work could not be owned. As land art is often in wild, outof-the-way places, it
is rarely seen by the public. Many artists therefore record there activities in
words, photographs, and so on.

Richard Long is one of the most famous and successful land artists, Much
of his work consists of going for long. carefully planned walks in wild and lonely
parts of the world, Sometimes he leaves his mark by making small changes to
the landscape, such as forming a line of stones. More recently he has brought
back objects from his walks and used them to make up sculptures in art
galleries,

Exercise 1

Prepositional phrases are tested on the TOEFL® Test. Fill in

the blanks with the correct preposition in the prepositional
phrase.

1. It was the 1960s the United States that an art
movement called land art started.

2. lLand art is created landscape sctting wild parts
the world.
3. Many times the artist's work is changed nature.
4. Robert Smithson built a jetty carth and stone the
Great Salt Lake Utah.

94



r

CHAPTER 10 PREPOSITIONAL PHRASES 95

| 5. Land art is found out-of-reach places and is therefore not seen
| —_ many people.
6. Land artists often record their work text or photographs.
Exercise 2

Richard Long lcaves his mark by making changes with the landscape.
Richard Long brings back found objects of his walks.

Richard Long uscs the objects in sculptures that are shown on art galleries.
Land art involves the artist going into nature, usually from a remote area.

W N

The only record that remains of land art is photographic, sometimes
combined of maps.

Grammar: Prepositional Phrases
The following are some common prepositions:

about behind in through
above below in spite of throughout
across bencath into till
after beside like/unlike to
against between  near toward
along bevond of under
among by off until
around despite on up

as down out upon

at during out of with
because of  for over within
before from - since without

A prepositional phrase consists of a preposition and an object. The object
may be a noun or a pronoun.

The work is changed by nature
subject verb preposition object of preposition
The work is changed by it :
subject verb preposition object of preposition

The noun may have modifiers. In this case it is called a noun phrase.

Land art is n wild places
subject verb preposition modifier object of preposition
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Exercise 3

1. Artists have painted nature for centurics.

2. Richard Long recorded his work in different ways.

3. Most murals are painted in a naturalistic style.

4. The role of art in Western culture has changed in the last hundred years.
5. Futurism emerged in northern Italy before the First World War.

6

. Some contemporary artists have rejected art galleries for political
reasons.

Strategy

and words used as preposifions
ww&m«mmmwms:m %

Do not confuse a clause with a prepositional phrase.

Not a prepositional phrase: Because it changed, the work was
fmpermanent.

Prepositional phrase: Because of change, the work was impermanent.

In other cases, a phrasal verb may cause confusion. A phrasal verb is a verb with
one or two prepositions that together have a special meaning.

Not a prepositional pbrase: The artist ran across a» object
(the phrasal verb “run across” means to meet by accident)

Prepositional phrase: The artist ran across the room o get a canvas.
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Exercise 4

sentences.

2.

. The invention of photography in the 1820s encouraged artists to attempt

cven greater realism in their paintings,

As the nincteenth century wore on, some artists began to question the
need for art to refer to the outside world.

By the nincteenth century, art dealers had begun to sell uncommissioned
art to a wider public.

Monet was more concermned with expressing an almost mystical sense of
communion with nature than with working spontancously.

With the Industrial Revolution the landscape began to change more and
more, and artists began to look into its negative and positive aspects.

Land art involves the artist going out into nature, usually in a remote
arca, and making his or her mark on it.

Strategy
Make sure you choose the correct preposition. To review prepositions, see
Chapter 5.

Exercise 5

Choose the correct to complete the sentence.
Circle the letter of answer,
1. Artists have painted nature 2. As Europe became more
centurics. industrialized, art began to
(A) for reflect a growing nostalgia
(B) in — the old rural way of
(C) since life.
(D) by (A) in
(B) for
(C) of
(D) w




98 TOEFL GRAMMAR FLASH

3. By the twentieth century, artists 6. The key role of the still life in
were becoming less conven- modern art has been as a focus
uonal ________ the way they _technical and stylistic
portraved landscape and nature experiments,
in general. (A) in
(A) by (B) on
(B) as (C) with
(©) in (D) to
G2 Aoe 7. Futurists were inspired

4. Cubism was the result the dynamism of the
a gradual process of change. machine age.

(A) on (A) with
(B) with (B) of
(€) in (C) by
(D) of (D) on

5. with landscape, 8. Op art became a very trendy
seventeenth century Dutch movement and had a big
artists were the first to paint influence fashion.
still lifes for their own sake. (A) in
(A) As (B) o
(B) In (C) with
(C) Since (D) on
(D) Beyond

On the TOEFL® Test

Prepositional phrases often appear at the beginning of a sentence but may also
appcar in other parts of the sentence.

The wrong preposition will appear in the distractors, or a clause may be
used in the distractors without a connector to join it to the other clause.

It is important to remember that the subject of a sentence cannot be the
object of a preposition.

Example: turn of the century, the first art galleries and
museums were built.

(A) The

(B) Around the

(C) It was around the
(D) When the

Choice (B) best completes the sentence. (A) is not correct as there is no
connector joining the noun phrase “the turn of the century”™ with the
rest of the sentence. (C) is a clause, but there is no connector joining it
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to the other clause. (D) looks like a subordinate clause but does not
have a verb.

Example: _ realistic painting or sculpture, emotion is expressed
mainly through people's poses and expression.

(A) Ina

(B) Itisina

(©) As

(D) A

The best answer is (A). (B) is a clause but there is no connector joining
it to the other clause. (C) looks like a clause but does not have a verb.
(D) is not correct as there is no connector joining it to the rest of the
sentence.

Exercises oN PreposmoNaL PHRASES

From the four words or phrases, choose the one that best
completes the sentence.

1.

Camels store water of fat in their humps.

(A) with the form
(B) in the form
(C) by the form
(D) form

Tears contain an antiseptic that helps protect our eyes
infection.

(A) from bacrerial
(B) in bacterial
(C) bacterial
(D) with bacterial

So far only two other of our neighboring planets the solar
system have been visited by unmanned spacecraft,

(A) by

(B) that they are in
(C) in

(D) they are by
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4.

Many tropical orchids grow branches of trees and have aenal
roots that absorb water from the moist air around them,

(A) of the

(B) the

(C) they are in the
(D) in the

—_ compact disc, sound is stored as digital information in tiny pits
on the surface,

(A) Ona
(B) A

(C) Itisona
(D) Ofa

Giraffes sleep only an hour at a time and often do not sleep at
all during twenty-four hours.

(A) by
(B) for
(©) in
(D) during

were invented, patients had to be held down by force during
painful operations.
(A) As anesthetics
(B) Because anesthetics

(C) Before anesthetics
(D) Anesthetics

The surface of a cactus is coated waxy layer that prevents
water from evaporating from the plant.

(A) itisa
(B) a

(C) bya
(D) witha

eighteenth century, people began to realize that certain
chemicals are affected and changed by light.

(A) By the
(B) The

(C) It was the
(D) That in the







COMPARATIVES AND
SUPERLATIVES

Introduction: Violins

Double Bass

Violino Violin
Piccolo

For 100 or more years the violin was looked down on as a lesser musical
instrument; music was not composed especially for it except in overtures o
court pageants or background music for aristocratic drawing rooms. However,
beginning around 1680 into the nineteenth century a succession of ltalian
violinist composcrs created an enormous amount of music for the violin—
people such as Corelli, Vivaldi, Pugnani, Paganini, and Viotti,

The violin is the principal member of the violin family. The other members
arc the viola, the cello, and the double bass. The fullsize violin, which is the
smallest and highest pitched of the stringed instruments played with a bow, has
a body size of fourteen inches. The viola is slightly larger than the violin, and it
has a slightly richer but less brilliant tone. It is really an alto violin, and it fills the
gap between the violin and the cello.

102




CHAPTER 11 COMPARATIVES AND SUPERLATIVES 103

The greatest of the violin makers was Antonio Stradivari, who was bomn in
1644. During his lifetime, Stradivari made over a thousand stringed instruments,
of which about six hundred are still in existence.

Exercise 1

Comparatives and superlatives are tested on the TOEFL" Test.

Comphoﬂnuntumwhbﬂncompomﬂnorwpuhﬁvo
form from the reading.

1. People looked down on the violin as a O musical instru-
ment. ol
‘ F 4 ." . 4

2. The violin is the and ' pitched of the
stringed instruments pl:lycd with a bow.

3. The viola is ‘l’.- - th:m thc violin.
St - v
4. The viola hasd tonc than the violin.
5. But the viola has a less | tone than the violin.
6. Antonio Stradivari was the " violin maker.
!: veol € <}
Exercise 2

Fill in the blanks with one of the words in the box.
small big smaller bigger biggest  smallest
1. The double bass is the __ =3¢ et of the violin family.
2. Thecelods _SMBUA  than the doublc bass.

: g 7 3 N :
3. Thecellois _— (0 than the viola.
l | - /’I ’
4. The viola is not as (7> ef — as the cello.

e.J

5. The violin is not as as the viola.

6. The violin is the __2 ~c¢/"  of the violin family.

Grammar: Comparatives and Superlatives

THE COMPARATIVE AND SUPERLATIVE OF
ADIJECTIVES

There are three forms of comparison: the absolute (the base form of the
adjective), the comparative, and the supcerlative.
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1.

The absolute form is used to describe a thing or person.
The violin is a small instrument.

ing somcthing(s) vmh other things.
The violin is smaller than the cello,

The superlative is used when comparing more than two things, or when
one in a group has the greatest amount of a quality.

The violin is the smallest of the violin family.

el
MbmwththMWkM

where needed on the TOEFL® Test.

a.

The comparative and the superlative of one-syllable adjectives are
formed by adding -er and -est to the absolute.

Absolute  Comparative  Superlative
small smaller smallest
high higher highest

The comparative and the superlative of adjectives of three or more
syllables are formed by adding more and most.
Absolute Comparative Superlative

brilliant more brilliant most brilliant
important more important most important
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Mbwﬂmhduoluh comparative, and superlative structures are
1 correctly in TOEFL® Test questions.

¢. Some adjectives ending in -er, <. or Je form comparatives and superla-
tives by adding -er or -esf to the absolute form (“'y"" changes to “i'").

Absolute  Comparative  Superlative

carly carlier carlicst
simple simpler simplest

THE COMPARATIVE AND SUPERLATIVE OF
ADVERBS

The forms used for the comparison of adjectives are also used for the
comparison of adverbs.

d. For the comparative and superlative forms of all one-svllable adverbs use

-or and -est.

Absolute  Comparative  Superlative
fast faster fastest

carly carlier carliest

¢. For all other adverbs use more and most.
Absolute Comparative Superlative

slowly more slowly most slowly
commonly more commonly most commonly

f. The following arc irrcgular comparatives and superlatives of adjectives

and adverbs.
Absolute Comparative  Superlative
good (adj) better best
well (adv) better best
bad (adj) worse worst
badly (adv) WOrse wWorst
little (adj/adv) less least
many (adj) more most
much (adj/adv) more most
far (adj/adv) farther farthest
further furthest
late (adv) later last
old (adj) older oldest
elder cldest
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Exercise 3

Underline the comparatives that are incorrect in the
following sentences.

(S —l
1. Stretching a string more - tightly gives a hlghesynotc

Y

The violin is probably the most 62 ortantest of all orchestral instru-
ments.

B oy
3. The viols are bowed strings tha%re @)_re older'than the violin family,

.,_x‘,ﬁ
- The'ﬂeavner the stnng, the ow the note it sounds.

- v,/
. Small violins have short strings than full-sized instruments, but they play
the same notes. o J

3
4. The viols_do not have as bright'a sound the violin family.
5
6

7. Andres Segovia is the mp(e famous classical guitarist in the world.

8. It is said that a special varmah uscd on a violin helps to produce! thc
moribcauuful tone.

On the TOEFL® Test

In the Structure section, adjectives are usually compared. The forms as . . . as,
the more . . . the more, similar to, different from, unlike, and so on may appear
in this section.

Example: tilted toward the sun, the more heat it receives and
the houer it is.

(A) As more as the carth is
(B) The more the earth is
(C) The earth is more than
(D) The earth is most

The best choice is (B); it should have the construction the more . . . the
more.

In the Written Expression section, the three forms of the comparative and
superlative (the absolute, comparative, or superlative) may be used incorrectly.

Example: The Great Plains region of the United States suffered one of

A
the worse droughts in history from 1931 to 1938.

B C D

The best answer is (B); the sentence does not compare two groups and
therefore, the superlative worst is required.
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Exercises oN COMPARATIVES AND SUPERLATIVES

From the four words or phrases (A), (B), (C), or (D), choose
the one that best completes the sentence.

1.

Temperature, the simplest
weather clement to measure, is
probably usced than
any other kind of data,

(A) more frequently

(B) most frequently

(C) as frequently

(D) frequently

Paprika is red or
cayenne pepper, and it has a
sweeter taste.

(A) least biting

(B) less biting than

(C) lesser biting than
(D) less as

The foods that contain

are made of animal fat
whereas vegetables have the
least energy.
(A)
(B)
(&)
(D)

Albert Einstein's contributions
(o scientific theory were
those of Galileo and

as much energy as
the more encrgy
the most energy
morc ¢ncrgy than

Newton,

(A) important than
(B) morc important
(C) the most important
(D) as important as

5.

Impalas cannot move as
cheetahs, but they are
more efficient runners.

(A) faster than
(B) fast as
(C) fast

(D) arc fast as

Apart from Pluto, the outer
planets the inner
planets and are made mainly of
lighter materials such as
hydrogen and helium.

(A) are larger than

(B) are the largest

(C) larger than

(D) are large

H\






CONJUNCTIONS

Introduction: The Soya Bean’s Industrial Uses

Sova is not only used in the manufacture of food for human and animal
consumption but also in a varicty of industrial processes. These range from the
manufacture of adhesives and plastics to dynamite and waterproofing
preparations.

For many years soya bean oil has been used in the manufacture of paints,
both for domestic and industrial use. It is also used in the printing industry in
printing inks, adhesives, and paper. In the United States the soya bean is used in
the brewing industry to help the veast ferment and enhance the flavor of beer.

Soya is even used in fire-fighting as a foam agent. When mixed with water
and air it produces the fire-fighting foam. Water might put out the surface
flames. but the fire could still be burning underneath. Fire-fighting foam on the
other hand clings to most surfaces and does not drain as quickly as water. If oil
has caught fire, the foam floats on the surface and smothers the flames.

Glycerine, which is a byproduct of vegetable oils including soya, is used in
nearly every industry. It is an ingredient in many medicines including cough
mixtures and is also a basic medium in toothpaste. Glycerine is not only used in
glues to prevent quick drying, but also in the manufacture of explosives. No
doubt as research and experiments continue, even more uses for this versatile
crop will be found.

Exercise 1

Conjunctions are tested on the TOEFL" Test. Fill in the blanks
with one of the following conjunctions: and, but, or or.

1. Sovais used in the printing industry in printing inks, adhesives,
paper.
2. In the brewing industry sova helps the yeast to ferment
enhances the flavor of the beer.

';)A

When soya is mixed with water air it produces a fire-fighting
foam

110
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Water might put out the flaimes the fire would still be burning
underneath.

Fire-fighting foam clings to surfaces does not drain as quickly
as water.

Glycerine is used in many medicines including cough mixtures
is the basic medium in toothpaste.

Exercise 2

~ Correct the mistakes with the following constructions in the
sentences: not only . . . but also or both . . . and.

Soya is used not only in many food processes and also in many industrial
Processes.

Soya has been used in the manufacture of paints for both industrial or
domestic use,

Glycerine is used not only in glues but in the manufacture of explosives.

Soya is used in the manufacture of food for both human consumption
but also animal consumption.

American farmers have been encouraged to grow more soya not only
because the export market has expanded also because the demand at
home has increased.

The ancient Chinese used the soya bean for both food and also medi-

Grammar: Conjunctions
Conjunctions are tested in both the Structure and Written Expression sections.
The two kinds of conjunctions tested arc:

a. Coordinating conjunctions

b.

Correlative conjunctions
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Coordinating conjunctions connect words or phrases that have the same

function in a sentence. The coordinating conjunctions tested on the TOEFL®
Test are and, but, or, and so.

‘ 1.

2.

And

And joins two or more words, phrases, or clauses of similar function and
is used to show addition.

Like peas and broad beans, soya beans grow in pods.

The plant is ready for barvesting when the leaves turn yellow and
drop off. and the pods and stems dry out.

Note: When and joins two subjects, the verb is plural.
Soya beans and peas bave pods.
But

But joins two or more words, phrases, or clauses and is used to show
contrast.

In the U.S. soya is not barvested by band but my machine.

Soya is not a new discovery but is one of the oldest crops grown in the
Orient.

Or

Or joins two or more words, phrases, or clauses. It is used to give a
choice.

I'be beans may be yellow, green, broun, or mottied.
After being chilled, the margarine is packed into tubs or cut in blocks.
So

So joins a clause. It does not join single words or phrases. So is used to
show effect.

The soya bean is versatile, so it is grown widely.
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CORRELATIVE CONJUNCTIONS

Like coordinating conjunctions, these words are used to join words, phrascs,
and clauses. Correlative conjunctions or paired conjunctions appear in two
parts:

Each of the pair of words should be followed by a word of the same
grammatical form.

Either (noun) or (noun)
Not only (adj) but also (adj)
1. Eitber. .. or
Either . . . or is used 1o indicate alternatives.
Soya can be used in either fish feed or chicken feed.

The subject closest to the verb will determine if the verb is singular or
plural.
2. Neither .. . nor

Neither . . . nor is used to indicate negative alternatives.
Soya is dangerous to neitber humans nor animals.

The subject closest to the verb will determine if the verb is singular or
plural.
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3.

Botb . . . and

Both . . . and indicates addition.

Soya protein isolate is used in both meat and fish products.
Subjects connected with both . . . and take a plural verb.
Not only . . . but also

Not only . . . but also ¢mphasizes addition.

Soya is not only the most efficient but also the least costly source of
protein.

The not ondy clause must come before the phrase it refers to. The
subject closest to the verb will determine if the verb is singular or
plural.

Whether . .. or
Whetber . . . or indicates a condition.

Whetber it is in the print of a newspaper or the food we eat, our lives
are touched by soya.

Exercise 3

Circle the letter of the word or phrase that correctly

completes the sentence.

1. Around 1910 chemists and 2. The cxpansion of the industry
manufacturers Came 1o recog: was not only due to the world
nize the value of the soya bean, shortage of edible oils,

the great sova __to the Second World

processing industry was born, War, which put traditional

(A) with sources of protein in short

B) and supply.

C) but (A) but also

(D) or (B) as wcll as
(C) and so
(D) but also as
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3. Research began in the United
States into ways of using soya
meal for human food, —=
it was not until the 1950s that
the first edible soya protein was
produced.

(A) nevertheless
(B) or
(C) but
(D) and

6. The ground bran from soya is
used cither in breakfast cereals
__in animal feed.

(A) nor

(B) or

(C) and also
(D) and

7. Soya protein isolate is used
where a high level of protein is
required, whether it is dietetic

4. The soya plant is an annual, hospital food.
—_ new sceds must be (A) or
planted every year. (B) nor
(A) such (€) and also
(B) and since (D) but also
:g)r-:ahﬂc 8. Today most margarine is made |

of vegetable oils

5. The sova plant is attacked by originally it was made from
both fungus disease animal fats.
virus discasc. (A) except
(A) and (B) but
(B) and also (C) nevertheless
(C) but also (D) thus
(D) or

On the TOEFL” Test

In the Structure section errors with conjunctions include:

1. Coordinating conjunctions:

and (addition)
but (contrast)
or (choice)

2. Correlative conjunctions:

either . . . or
neither .. . nor
both . . . and

not only . . . but also
whether . . . or

Since correlative conjunctions are in two parts, there is usually an error in one

of the parts.
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Example: Soya is an important crop used in

Processes.

(A) ecither
(B) both
(C) and
(D) just

The best answer 18 (B); the correct construction is borh . .

distractors do not follow this construction.

1. Coordinating conjunctions: and, but, or

2. Correlative conjunctions: either . .
. but also, whether .

also.

food and industrial

. and; the other

In the Written Expression section errors with conjunctions also include:

not only . .

. or, neither .
. or

. nor, both . . . and,

Example: Soya beans contain not only vitamins and also important

A B
minerals.

The correct answer is (C); the correct construction is not only . . .

C D

but

Exercises oN CONJUNCTIONS

From the four words or pbram (A), (B), (C), or (D), choose

the one that best completes the sentence.

1.

Both diamond

graphite are made of the same
clement, which is carbon.

(A) and

(B) cxcept

(C) together

(D) both

Blinking helps keep the surface
of the eye clean
moist.

(A) 1o
(B) or
(C) and
(D) so

3.

Normally, piranhas swim alone
and feed on smaller fish

on seeds in the water,
(A) but
(B) cither
(C) instead
(D) or

Most rodents eat grain, sceds,
and nuts, some eat
almost anything.

(A) contrary

(B) they

(C) but

(D) instead







PARALLEL
STRUCTURE

Introduction: Vitamin C

In the past people suffered from a discase called scurvy. Their gums bled, their
skin became rough, their wounds did not heal, and their muscles wasted away.
The cause of these symptoms was a lack of vitamin C; people ate preserved
meats and foods and could not get fresh vegetables and fruits.

The best sources of vitamin C are oranges, lemons, grapefruit,
cantaloupes, strawberries, and fresh vegetables, These fruits must be fresh
because vitamin C is destroyed by heat, storage, or exposure o air.

Although today more people take vitamin C pills than any other
supplement, some people still have scurvy, including some of the elderly,
alcoholics, and the chronically ill.

Research shows that vitamin C reduces the severity of colds and can help
prevent cancer. There is also evidence that vitamin C prevents heart discase,
speeds wound healing, helps prevent gum disease, and helps protect us from
pollutants such as cigarette smoke. Some recent rescarch also shows that
vitamin C has a positive cffect on some mental disorders and increases life span.

Exercise 1

Parallel Structure is tested on the TOEFL" Test. Complete the
following sentences with words from the passage that have

parallel structure.

1. In the past, people got scurvy because they did not get

and
2. When people got scurvy their .
, and
3. Vitamin C is destroyed by A , or
4. Today some people like : , and

have scurvy
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5. There is evidence that vitamin C prevents heart disease,
, and

6. Recent research shows that vitamin C helps some mental disorders and

Exercise 2

Correct the claims for and against vitamin € supplements
zﬁqhhhmhrm.lluhdmphmmz

For

1. Lowering cholesterol and fights heart disease.

.. 2. Helps o keep good cyesight.
3. Protects against smoking and various pollutants.
4. Diabetes fights,

5. Wil fight gum discase.
6

. Strengthen immunity against colds.

1. Is a waste of money because the body excretes excess vitamin
€4

2. Will cause kidney stones or gout in some people.
3. May cause diarrhea and stomach cramps in some people.
4. Cause stones in the bladder in some people.

Grammar: Parallel Structure

Many sentences present information in a series or list. The series may have two,
three, or more parts that all have the same grammatical structure. This is known
as parallcl structurce.

Strategy
Make sure that words in o sequence have the same form. These may be
nouns, adjectives, verbs, adverbs, phrases, ond so on.
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a. Series Containing Nouns, Adjectives, Adverbs, or Phrases

Nouns: Vitamin C is destroyed by beat, storage, or exposure 10
artr.

Adjectives:  The criticism that taking vitamin C supplements is a
waste of money is considered to be inaccurate and
umwearranted by some.

Verbs; There is evidence that vitamin C prevents bearl disease,
speeds wound bealing, and belps gum disease.

Adverbs: Vitamin supplements can be prepared naturally and
synthetically.

Phrases: Large amounts of vitamin C can be bought in the form
of crystals, or in the form of granules.

b. Gerunds or Infinitives

Infinitive:  When people get scurvy their cells tend to disintegrate
and to fall apart.

Gerund: Claims for vitamin C such as reducing stress and
improving athletic performance bave not been scientifi-
cally demonstrated.

c¢. Corrclative Conjunctions

both . . . and neither . . . nor

cither . . . or not only . . . but also

Both fruits and vegetables are rich sources of vitamin C.

Since vitamin A is not created in the body, it must be suppited by

either [ood or supplements.

Exercise 3

The following sentences contain a series. Underline the
parallel structure, then say what type of series the sentence
contains by using the following abbreviations: nouns (N),
verbs (V), adjectives (ADJ), adverbs (ADV).

Vitamin E protects against heart disease, prevents cancer, and fights skin
problems.

The mineral fluoride is found naturally in soils, water, plants, and animal
tissue.
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3. Thc 1omato plant nccds a long growing scason and light, rich, wellk
drained soil.

4. Vitamin E is being employed slowly but steadily in medicine in an
expanding range of ailments.

5. Studies have shown that vitamin C can reduce the severity and length of
colds, but not the number of colds a person gets.

6. If you do not have enough iron, you can suffer from anemia, which
makes you pale, tired, and weak.

Exercise 4

~ Underline the errors in parallel structure in the following

1.

2.

Iron-deficiency anemia has been implicated in emoton, social, and
learming difficulties in infants, adolescents, and adults.

All “B" vitamins are needed for a healthy appetite. energy production in
cells, healthy nervous, and skin.

Some vitamins may cause toxic, allergy reactions in some people.

Symptoms of a mild case of vitamin C deficiency may be weakness,
irritable, loss of weight, and apathy.

Claims that vitamin C will prevent, relief, or cure colds and winter
ilinesses are unwarranted, according to Hodges.

Magnesium deficiency is characterized by loss of appetite, nausca,
confusing, loss of coordination, and tremors.

Exercise 5

Identif = llel str Gradd
~ infinitives and gerunds in the following sentences. =

1.

Some people take vitamin E to relieve muscular cramps, to extend life
span, and fighting skin problems.

The Nobel laurcate Dr. Linus Pauling persistently claimed that vitamin C
is effective in preventing and alleviating colds and to treat cancer.
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Many food processes such as drying, flavoring, canning, and to tenderize
may add salt.

It is important to select foods that are in their best state, storing them
properly, and prepare them to ensure the maximum retention of vitamin C.

Avoiding the purchase of foods with salt content while marketing or to
cat out is helpful.

The major function of vitamin D is to ensure an adequate supply of
calcium and phosphorus in the bones, to prevent rickets in children,
and maintaining good levels of calcium and phosphorus in the blood.

Exercise 6

Identify and correct errors in parallel structure related to
correlative conjunctions in the following sentences.

l.

6.

On the TOEFL” Test

Parallel structure is tested in both the Structure section and the Written
Expression section. Words in parallel structure must have the same form in a
sequence. In the Structure section look for words from the choice of (A), (B),
(C), and (D) that follow the same form as in the main sentence.

Very large intakes of any of the essential nutrients may result in both
undesirable toxic symptoms and seriously side effects,

Minerals in the cell influence not only the vital processes of oxidation
but also secreting and growth.

Many people feel that both frozen and can fruits and vegetables are
inferior to fresh produce.

Canned food can be kept neither for unlimited lengths of time nor any
temperature.

Fruit grown either sheltered from sunlight or growing in a season of
many rainy days will not have much vitamin C,

Good pecaches should be neither too hard, nor too softness.

Example: Vitamin C boosts immunity against colds, asthma,
and helps maintain good vision.

(A) counteracting

(B) counteracts

(C) will counteract

(D) it is countcractive to
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|

6. Chemical substances called hormones, many of which are proteins,

A

control such processes as growth, develop, and reproduction.

B

C D

From the four words or phrases (A), (B), (C), or (D), choose
the sentence.

the one that best

7. To qualify as a language, a
communication system must
have the features of meaningful-
ness, , and productiv-
ity.

(A) displacement
(B) 1o displace
(C) displacing
(D) to be displaced
8. Many mental disorders are

believed to result from a
combination of emotional,

, and biological factors,

(A) society
(B) social
(C) socially
(D) to be social

9. A nceuron cell can not only
receive messages from sense
organs, but it can also

(A) to transmit messages
throughout the body.

(B) by transmitting messages
throughout the body

(C) transmit messages through-

out the body
(D) a transmitter of messages
throughout the body

10. Morse invented a code in which
letters, numbers, and
are changed into short and long
signals called dots and dashes.

(A) punctuate

(B) punctuating
(C) to punctuate
(D) punctuation

11. Hormones have many jobs,
from promoting bodily growth
to to regulating
metabolism.

(A) aid digestion

(B) aiding digestion

(C) be of aid to digestion
(D) an aid of digestion

12. Thomas Malthus claimed that
disease, war, famine, and
act as checks on
population growth.
(A) moral restraining
(B) morally restrain
(C) moral restraint
(D) by moral restraint
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’
Exercise 1

Word order is tested on the TOEFL” Test. Correct the word
order in the following sentences.

1. For computers to speak relatively casy is.

2. Until recently it thought was computers would have 10 be programmed
to the accent and speech habits of the user.

3. It is claimed that the IBM Tangora system can recognize a vocabulary
spoken of 20,000 words.

4. Statistical probability necessary is for computers to interpret not only
speech but visual data as well.

5. Up to now have computers not been programmed to react to a range of
spoken commands.

6. The machine can calculate the probability of one word particular
following another.

Exercise 2

With sentences starting with a negative word, word order is
reversed. Complete the sentences with the correct negative

1. (Not until/Never) now have computers been programmed to react to
spoken commands.

2. (Never/Not only) has a computer been able to match a human's ability
to make sense of a three<dimensional scene.

3. (Only/Not only) are grammatical rules programmed into the computer
but also an analysis of office correspondence.

4. (Not until/Scarcely) recently was it thought that computers would have
to be programmed to the speech and accent of the user.

5. (Only/No sooner than) recently has progress been made in recognizing
human speech,

6. (Nor/Not only) can a computer recognize a three-dimensional scene by
identifying all objects in it
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| Grammar: Word Order

INVERSION
 In English the usual word order is

|
subject (S) + verb (V) + object (O)

In some situations the order is changed, and the verb is placed before the
subject.
1. In a question the subject follows the aux-word or verb.

Usual word order: You are using a computer.

S Vv (9]
Inversion: Are you using a computer?
S 0
2. When there is a prepositional phrase indicating place at the beginning of

a sentence, inversion occurs.

Usual word order: The workings of the computer are inside the
system unit.

Inversion: Inside the system unit are the workings of the
computer.

Usual word order: The computer programs are fed into the
computer.

Inversion: Into the comuter are fed the computer pro-
grams.

3. When the conditional “if' " has been omitted, inverted word order is

correct. ©

Usual word order:  If I bad used a computer it would bave been
finished now.

Inversion: Had I used a computer, it would bave been
Jfinished now.

Usual word order: If you should need the information, it will be
in the computer,

Inversion: Should you need the information, it will be in
the computer,
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4. When a statement begins with a negative word or phrase, inversion
occurs.

When the words below begin a sentence or an independent clause,
there is a change in word order.

never only

nor only after
neither only once
hardly ever only once

no sooncr than only in this way
not often only only then

not only . . . as well rarely
not only . . . butalso  scarcely

not until scldom
nowhere under no circumstances
on no account SO

Usual word order: I will never again write on a typewriter.
Inversion: Never again will I write o<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>